MEEANSETAIDFEBHEENESE
OSTEHREE (TEEMR : BEFRE ARETL)

241 i E S X it i L
TOEE $2.000| P& EFEARAE] $60,000
HOHF $600[= 0O $400
BROTE $600| EOE $100
BRO $600| EO4 $100
FOFk $1,200[5F O $600
RO $600[FROEE $200,000
BEO $600[fRO=E $100
EHOH $600[ER O $600
FO= $600|=OF+ $200
FHOPTE $600[fR OF5 < $600
BHOE $600[FEOH $100
RO $1,200[ O = $100
FORE $600[= Ol $100
HEOM $5,000[F=OZ# $100
HOZE $1,200|=OFE $100
RO $2,500[z= Ol $100
RODR $500[FH OB $400
EOR $300[HHOFE $100
HOHZE $600)| EO4 $2,000
RO $1,000|508 $1,000
T OB $600| EOH $100
£Z0O%kHE $600| EOF $100
TOH $300[=O#h $100
I OFEH $1,200[z=OH $100
O $1,000) &= Ok $100
RO $500[# 0O $1,200
BEO $3,000)#kO40 $1,200
O $1.200{5O5F $1,200
ErROE $5.000({TOF $1,200
BEO% $115|#OHT $1,200
FO $800[t5O#h $1,200
FROZ= $500[E O $1,200
#HO $2,000{EO% $1,000
HO=E $100[#OF $1,000
IO $2.000(#OFx $1,000
=(OLS $500[FHO1E $1,000
HOH $100[#FOF $1,000
£O% $200|# O $400
TOC $300# O®F $400
HOT $100[HO* $400
O $100[E=OIE $400
S ORE $100[E=OFH $400
MHO& $600[ =0 =, $400
HOE $1,000){=ORE $400
s O $100[= O $400
PROAL $600[E=OE $900
RO $100PTOZ= $400
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O $1.015[FHOFF $400
BEO7 $1,000|= Ok $400
BOE $1,000) 5 O $400
#HOZ $1,000) 5 OFF $400
Z0% $100| = OF $400
ZO1 $200[= O $400
FOE $1,000[50O= $1,000
BRO% $500[EEO & $500
i O $250[7ROFKX $400
T O/ $500[7O% $400
BOZR $16,000|5=O2 $400
sTOFE $300[2£O3R $400
HOH $1.200{2£O% $400
£0# $100[FIOZF $400
BO $100[F O $400
=OF $100| 52 O%F $400
EEOIR $50[fR O $1,200
FAOZE $50[FHO $1,200
BEOH $1.2001770H $700
BOE $1,000|EO& $1,200
FROZIL $2,000)1%0O $400
=HO®E $1.000[ O $400
RO $20,000)75+ & E2 S0 (5 (E—[E] $740
sHOH $500 [ EEESGETE—[E] $2,700
RO $1,200) G 1EFE 5 Ay $500
O $1.200p TOZEH $1,700
i O B $600 | OF5ES $1,200
FZ Ot $600|FEO=E $600
ARORE $600[7BO%k $600
@RS $1,000|5EOE $600
EOFHE $200[FEO 5 () $300,000
+O=E $300[Er OB $600
FOHE $1,000|ZE O%k $600
BOM $1.000) B O $1,200
HEOEE $800[/FEOHE $1,000
BOkE $1,500) & O3 $600
O $1,500[FROF= $500
O $1,000{=0OF $100
ROZE $1.000| O $100
Ok $500[15O%E $100
LO5k $1,000[7k O $600
fFOR $20,000|BEO%E $300
EOH $500[7ROE $300
FORMH $800[BI Ok $200
£0% $500[t5OFE $100
O $2,000|1O % $100
FROH $100[E= O $200
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HOH $100[3EO= $100
EHOM $100/FEOZ(HD $600
wOZ $100[m= O%k $600
wOfE $100[z=0OH1 $500
w= Ol $100[fEOLE $1,500
BO% $300[E= OB $1,500
BO# $300[# O $4.,000
BO# $300 R O $10,000
20O $300[5R OB $1,000
FROH $1,000[;TOH, $1,200
FEOR $300| O $1,200
BRO#E $1.000{EFOH $100
FO1&E $1.000(t:-OF& $1,200
O $1,000)4£ O3 $1,200
£0UAE $1,200[5R O F $100
FROZL $300|5=OH T $100
BRO1E $1,000) 5Ol $300
£0H $1,200) it Ot $600
£ZOJN $1,200) /i O $600
£Z0B $1,200{Z O FK & $600
BO== $1.200(FROEE $1,200
#HO $500|HECOH $1,000
BROH $200[5OE $10,000
ZOligg $200[sEOEE $1,200
BRO#% $200 [ O $500
+O=E $300[EO= $10,000
BROFT $300[ & OB $100
BROF $200[ OB $100
A OHk $300[ERO1E $100
A O $600| i OF( $100
A O T $1,000|EO% $1,000
BOWE $500| EOFE=E $400
ROBEE $500| EOH $200
KOS $10,000[#£O4L $1,200
AROE $10,000|BR O $150
ST $1.200[7ROZE $1,200
I $1.2001Z20O $600
R $1.200[FFOF $200
TREETR $1,200)5£O% $300
AOME $500[FEO*E $600
BROE $100[ 52 Offg $300
BROFE 5 $100[FROFE $500
HOE $100F O %k $500
FOHE $100fH Oz $100
H O $100[#FORd $500
HOBARBIZR $100[FEOFE $600
O $100[ O $100
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[ @5y $100[EHOH $100
SO $100[#EO=TF $2,000
BOfS $100|ZF Ot F= $100
HOZE $100[fR Ot $100
PO $100[#E Ot $100
FEOBEMZ $100[E=OL $100
EOF $100[B1OA $100
BROZ $100[E= OKE $100
FO $100| O $150
FR O $100[FRO%E $150
ZOEE $100[BROZ $150
HOz= $100[HO==8% $500
s OflIfE $100[HEOTE $100
O $500[EOL $100
HEOE $100[s0O= $100
A $200[B3O %) $100
R $1,000| % O $100
BOZE $600[ 4 O&L $100
JBO%K $600[ 4 OF $100
BOE $600|FEOZ $100
BROZAL $600[FROF $100
HOBH $2,000) 5 O%#, $100
TOE $200[EB O $300
TO%& $200|H O $300
O $1.200[EF O fif $100
AO% $1,200[5F O $100
#®O% $1.200|180OF $100
HOR $1.200[EHO4H $100
Ok $1,200|EHO$# $100
BROE $200[Z2OFEH $600
ZEOWR $600[ 2O $500
HFOf $1.200(#OBK $1,000
e O $500F O $200
e O $500[5OZE $1.000
w1 O $500[5O%# $1.000
e O $1,200|5FOpk $200
EOEF $1,200{ ROk $200
HOE $400[21Of% $100
BROA $1,200| RO $100
FO% $1.200|BRO &, $500
w=OF $200[FR OfZ $500
EO# $200[BEOH $500
BOE $200|PEOINE $500
S ORE $600[FR O3 $500
£ ORk $1,200) B O $500
BEOT $1,200| PO $100
RO $600[#F O $3,000
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RO $600[#F O $1,200
HOE $200[ IO $1,200
#EO ik $1.200[f1O== $1,200
A O $1,200|HICOBE $1,200
BORE $200[HIO $1,200
BO= $200[ IO $1,200
FO* $400[7ROZ= $1,200
FO% $400[BROHR $1,200
O $400[HIO T $1,200
TOH $400[FEO $1,200
ZOR, $400[FEO $1,200
B O% $1,200[#O & $100
s ORF $1,200{FE ORI $100
TOEEHD $400[HO%H $100
MHOBEHED $400| == O & $600
O $400|FOEF $600
HOE $400[ &= O%j $600
HO $400[tT O 1 $1,200
O $400[5OF& $200
FEOEED $600[ £ O $1,200
s Ok $600[ET Ot $1,200
s O $400[ET Ot ¢ $1,200
=05 $400| % Ot $1,000
wOfE $400[{L O $600
s O $400[=OEL $600
OB $400|PBRO $600
FEOWs $1.200FE O $600
20 $400|ZF O $600
Ok $400[HOHk $600
HOFIL $1,200)5F O3k $1,200
FRO3 $100(ZOF5 $100
O $200|F1O $100
TOF $200[#FOF $2,000
s O $200[EHOFH $100
s OH $200[{TO %% $100
Ok $200[{TO[H] $100
ROBL $100[F1O¥E $1,200
=ROHT $100[EROE $100
HOH $1,200)FE O] $500
BOZE $1,000|#EO%E $100
POTEDT $50,000[/8Ot& $100
BOMR $10,000[BAOE $200
BROZF $1,000/ 20O & $100
HOTR $6.400[ARO £ $10,000
BO $10,000|BHOFS $4,000
=0% T $100[EFORK $1,200
BROZR $100[EFORK $1,200
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£OAG $2.,000({Z1 Oy $1,200
=OZE $1.000[EO= $10,000
ZIOl $1,000 VA AR $1,000,000
ZIOE $1.000)EEO#E $30,000
HO%E $1,000| O 4H $1,000
EORK $5.000|E=OF $5,000
FHOR $1,500)5=01G $100
AOH $1,500|18O2 $1,000
s O $1,000|F O $500
s OHk $1.000{ T O% $100
iTO $500| T O $100
s O $1,500[ T Of= $100
= OB $1,500| T O#F $100
EOH $300[ T OZFE $100
FHOHE $300[ZO1H $100
HOZE $400| T O= $100
O $250| T ORE $100
EOR $250[ T Ot $100
EONT $250[ 0¥ $100
BEOX $250[5O= $100
BROFE $1,200)8£O8 $250
qOE $2,500|122O%E $100
PROZE $1,200{5R OFl $1,000
BRO3 $500| £ O $250
BO%Z $500[7&O E e $200
TO®E $500[FEORK $100
FOE $5,000[AEOH $100
=0% T $500[ROF53E $300
HOH $100|# O $100
FOF $1,000[#OF $1,000
BROH $500/F O $300
EOEE $1.000(#r OB $100
TOH $500[#FOF= $200
ROk $500[FFOH $200
BOE $1.015| O $500
SO $300[FH O $500
TO= $2,500[750 $200
EOF $1,2003 O $100
FO% $3,000|1#E O $300
LOHE $100[H O $200
JLOER $100[H O $200
LO% $100[ERORBE $5.000
LO $100[FE O $10,000
TOE $100[FIOfE $10,000
RO $1,000 ST $1,000,000
FROZL $500[EEHE $1,200
O $100[/Eubi $3,000
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ZOtE S100| ¥ $1,200
O $100[&k O1E $5,000
HOL $100[BR O1& $1,000
ZOH $100[ =0T $100
£Z0OHE $100| £ OFE $1,000
=0O% T $100[fO’a $500
H OBE $1.200{EO5E $200
H O $1.200[=0 $200
mOH $10,000|ZFOf= $200
FIOH $100|ZFO= $1,000
PO $2,000) B Ok $300
sTORE $100[# O $400
£Z0OH $2,020[Z£OF5 $500
ZOR $1.000[# O $400
RO& $1,200{ =0+ $200
O $1.200[5RO%E $400
g OFd $1,200)22OF% $400
EOZ= $1,200|122 OB $400
AEOE $500[FpOZE $400
AEOE $300[sEOF% $400
EAOLEES $100[EEO%E $400
ZOR $100 | i O $400
BROIE $100 [ O $400
fiti OF $100[#OF= $400
TOZEZE $400|20O= $400
T O $200[FEOE $300
BROE $150[FIOH $400
£0 $100[£5OFE $200
EOT $1,200|1210% $500
Z#0 $600[H O~ $2,000
fTOTF $200)TO $2,000
RO $300[Er O EERIZ $800
ROSHE $600[ Ok $3,000
HEOHE $600[ =0+ $18,000
SOt $600[7ROF $500
RO $1,000[FF Oz $100
RO $500[ BB OZZ $600
BROME $500[B8OF5 $600
BROZR $100[BBO#E $600
FEORE $600[BEO 58 $600
GO $200[B3O = $600
sHOH $200[FI O $500
B O] (#0) $200[FEO-F $10,000
ZOP $600[HOF $30,000
AROFHEL $1,200) &= O3tk $10,000
O $600|{F O $1,000
TOREH $600[FEOZF $5,000
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ROF $200|ZOE $5,000
RO#E $300|2IOE, $500
O $200| 5+ FEVA4H $43,000
RO $100[#£O $500
w= (O $100[ =0T $500
OB $100[zRO% $300
PO $100|5EOE $1,000
PO $100[ =0+ $5,000
F Ok $150[FEOM $300
ROz $150|5EO R $25,000
PR OZ $150|1 2= O] $12,500
PR OFH $100[E O3 $500
PR O3 $100|EFOBH $25,000
$HOFH $100|21OF $1,000
BHOBL $100|210O% $100
HOES $500[210O% $100
JiE O $100[Z1OHF $100
Ji O3L $100| 21O F [ $100
LO= $100|2IO 7 $100
BOE) $100[FEOH# $100
g O $100|FEOZ $100
O $100[FEOFE $100
OHE $100[Z1 Ok $100
EOZ $100| 21O I $300
RO $100[/EOH $300
Ot $100[Z1OK& $300
B O $300( PR O $300
RO E $300|2IOF $300
s Off $100|FRO£E $300
FFOE $100|PRO%E $300
BOF $200| 5 O $12,500
O $200|FEOF $25,000
EHOF $200[fH O3 $500
ZOREH $600[7ROAH $10,000
RSO $1,000/BEO%, $300,000
HOSAE $200|EEOE $300,000
KO SAE $1,200[FH OF% $100,000
PROHE $200| EO@IEHD $500
OBk $200[FH OB $1.000
RO $200|&£OF5 $100
20% $100|= O $500
PR OZ $100[ EOF $100,000
RO $100{ B Ol $1,000
PROTE $400|E Oz $1,000
FOX $1,200| 5 O $400
FOH $1,200|#OF $100
FOZF $1.200|1210F5 $600
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HOZHE $1.200[FOE $100
TOE $1,200|#H O $100
TO&H $1.200702 $1,900
PO R $600| OB $100
AHOE $100[##O%E $100
O $100[Z1O7T $100
AEOH $100[i=m O $100
RO $1,200|FOF5 $100
O3 $1,200[4LOE $100
ROE $1,200|ZO7% $100
BROME $1,200| EOEEZ $100
EOE $1.200{EO# $100
s TORrik $1,200[FFOF= $100
A O] $1.200{EO1 $100
BIORE $1,200) &£ O8 $100
BOFAL $1,200)22ORESE $100
HOZEM $1.200[4EO== $100
RO $1,000{E=OAIHE $100
RO H 35 $1,200|1 07T $100
BIOPT $600| O HIE $100
HOE $1,000{ FOFHB $100
EOZk $1,200{ O $100
B OfE $1,200)1 77O $100
BOFHE $1.200FOE $100
O $1,200| FOH#E $100
B0 $1,200| Pk O%F $100
FOEL $200[E Q& $1,200
ZOR, $200[FEOZ& $2,000
PO $200[5FO $1,200
O] $200[5FOF $600
OB $200[5TO I $600
PO $200[5T Ok $600
POLT $200[5T O $600
FOH $200[ EOF $600
POfE $200[5FOF $600
HO1E $200[EFOH#E $600
Z0E $200[BEOfK $600
MO $200/2£0 $600
£ 0% $200|£2 O] $600
ZOFE $200[ZEORI $600
#O4 $200[ MR ORE $600
HOZK $200[2EO% $600
RO $200[5FO $600
BEOL $200 45 OfE1E $3,000
BEOZEE $200[ O $2,000
BHOZE $200[FR O $500
BHORZ $200| R O $700
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£ZOH $200[E OB $1,000
BEOW $200[HO 7 $300
BEOE $20075 O A ¥k $600
BOH $200[EEOZ $100
B OH $200[2£O0w $1,200
BO# $200|5=O $500
O i $200[5FO $10,000
FOE $400[FRO%E $100
BROE $400|2£O4 $200
FOF $400[ 7RO $10,000
EOERE $1,200{% O $100
HOR $1,200)EHOFT $100
BROL $200 R O $200
BROHL $200|F Ok $200
BROFT $200|f O $200
MHO% $400[BR O $200
RO $1,200| 2 OF $200
ROZR $400[#OFX $200
BEOF 1 $100[tO+ $100
ZOH $600[EHOH $100
O $100[FAO #h $100
HEOM, $100[6O T $1,000
BROEE $100[FRO#h $100
BROMR $1,200|5£O1= $10,000
BRORESE $2,400[FR O $100
g O $1,000|1#EO38 $2,000
£Z0= $200[FROHB $200
BROTE $1,000|BEEOF $100
EBOZ $200[H O%L $600
PRO= $200[ FOE $515
RO $200[7= O $100
BROAL $100[FR O $100
FEOR $600 R O $100
FOHi $600| £ O $100
TOELED $200|BROEE $100
fit OB $1.200|BROt% $100
EOH $1,200|5FO%% $100
Ol $1,200(PE O $100
O $1.200[FFOFE $100
FEOfE $200[EF O f $100
FOi $200[5TOZE $100
BROIS $1,200{t5O i $200
EOTE $1,200[5F O£ $100
BIOH $1,200|EHOF $100
RO $1,200|#H OF% $600
PO#HE $600|FH Ok $6,000
BOHi $100[F O $100
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#HOF5 $100[EBOIR $100
#HOF5 $100[EO1a $100
O $100|HFOZE $100
ZORE. $1,200|EOf= $100
sHOF $200[EF 5 $100
O3 $100|2£ O $100
fafOle] $100ta O $100
BEOsH $1.200[=0OF $100
BROfE $1,200[= O $100
FOK $600| 5 O $100
ROFEE $600[=O $100
fitt ORE $1.200[=O# $100
HOE $100[F O $100
O $500[FROE $100
MO $100[=OFH $100
HOE $100[=OH $100
it/ DI $1,200|=0O18 $100
R $1,200|= 0O~ $100
R $1,200{# OJI $2,208
i (B8 $1.200{ EOE $100
i o $1,200{FO4 $100
HEE $1,200|#H OF $100
il s $1.200[z=0O $100
F0O% $300[BEO $1,200
O $400[FRO R $1,200
FO#= $200|H O $600
HORE $100[FH O $600
=OX $100[= OBt $600
HO= $100[FO%d $600
BOZE $100[ROF5 $200
ZFOBR $300[BR O $200
BIOH $100[&F O $200
205 $100[7EOTT $200
BIOH $100[{E=OFE $200
BIOTRE $100[E O $1,200
2O $100[ =0+ $100
O $100[;&EO T3 $200
HOZ $100[E= O $100
FOFE $100[ER OBk $200
B0 $100|122O % $200
EMELEE $5,000[# O $200
TROHEHD $100,000| & O $1,200
w=OR $100[EO%F $1,200
wOME $100|EO= $1,200
=OE $100|FP O3 $1,200
=00 $100|FFO E $1,200
s O% $100[fROZE $1,200
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RO $100pTOF $1,200
FROZ= $100[2£OH $1,250
s O $100[BRORK $1,250
w06 $100|122OE $1,250
=01 $100[Z£EOF $1,250
=OR $100[3EO= $100
ST $400,000[ZFO & $600
=0O% T $1,000) % Osfe $600
sTOMM $1.000[EO= $600
HiE Ol $1.220(FROF $200
HOTHE $1,000) s OEH $600
s OH $1,000|FH O 4] $600
sT O $1,000| s O=F5E $600
TOFE $200[FEOL $600
MO $1.200| 7 Offs $600
£O% $1,200|7 O#E $600
RO $200)| £ O $600
RO $1.000{ O $600
BRO R $1.200{ EOZL $600
PROZ $1,200{ O3 $600
FOREGR $200| O $600
T O%F $20,000[F=O% $600
BO=E $400.000| EOF $600
RO BAL $1,200)F O] $600
fifi OHR $1,000{ £ O#F $600
EO/N $100| £ OO0 $600
BOR $200[BROAI $1,200
BOR $1,200[FR O $1,200
BOIE $1,200|#H#OFE $1,200
BO% $1,200)TOtH $1,200
BOBE $1.200[HEO= $1,200
HOJy $1,200|5E O $1,000
i OF] $1.200{fFOHE $200
s OBk $1.200{5:O>L $200
RO $200[{H O $200
£Z0/% $200[{H O $200
£ZOH $200[m=O%E $200
FOZE $200[17 Opk $200
HOZR $200[ 5= O $200
O $200[5F O $600
A OFFI $200[EFO% $600
OB $200[ EO& $100
BOFE $200| O $100
0= $200[=O#h $100
BO% $1,200[=OH $100
FROF $1,200|E= O $100
MHOZ $200[ & Ok $200
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SO $1,200[{T O %k $200
2O $200|EOR $1,200
PO $1.200[E O $1,200
BROFE $500[5=OF= $300
FOE $1,000{A1 O $600
PROTESE $10,000[Fr OF $600
RO $2,000{E=O#F $600
HOE $100[5OZ& $1,200
HOE $100[5OZE $1,200
SOl $1.200|1220%% $300
HOZR $200|122O =7 $300
BROEK $100|22ORE $300
PROFK $100|FO& $20,000
BROE $100[FEO &% $3,600
RO $100[ 2O $200
BRO B $100[ Ok $100
BRO B $100| O $100
@) $100[m=O%F $100
@) $100| e LI E260HE $515
BROH $100[HE:E2RES I $500
BROH $100[ RO $1,200
BROE $100[fROF= $500
BROE $100[5=OFt $600
BROE $100[ EOFHs $500
BROE $100[FROF* $200
FROZ $100[ kO $3,000
FROZ $100[z=0OH1 $500
BROE $100[5OF $600
BROE $100[5= Ot $600
BROHH $100| EOH5 $500
BROHH $100[EOH $100
BROLT $100[ZF0O $1,000
BROLT $100[FRO e $200
£O= $1,200[ZF O $100
JiO5% $1,200 5T $500
HORX $1,200{%= O $500
PROR, $600[=OFP $600
PROZE $600[#£O $600
BROSE $100[frOF $1,000
BROS $100| EOERYH $600
O $5,000[5& O $600
O $5.000|EO& $200
HOZ $300|HEOA $110,000
HOF $1,000]BEOFK $200
O $2,000|BEOZ $200
BIOF $1.200[FR OB $200
FOBE $500[EPO $200
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FOBE $500[BR O%5 $200
TOR $100[EROf& $200
TOXR $100[BROF $200
JTOR $100[FRO2 $200
JTOR $100[EROE $200
JTOE $100]| RO $200
JTOE $100[BRO4F $200
JTOFE $100| MO AL $200
JTOE $100[BROFE $200
B O $100[2[ O & $600
B O $100[ZE O A5l $1,200
T10= $100|ZFOE2 $200
10= $100[ZFOE. $200
TORE $100[ PO $200
TORE $1002£O% $200
T Ot $100[#FOF $200
T O $100[#E Ot $200
TO¥ $100[#FO17 $200
TO¥ $100[f7O H $200
FROR $250[FFOf& $200
FROR $250[#F Ot $200
FIOEK $200[2£O= $200
e OFf $100[#FO%& $200
O $200| 22O $200
T O $250|1 22 O $200
T O $250[3O4= $200
ZOF $1.000[EOZK $200
RO T $200| O $200
RO T $200[E O $200
BROZE $600|EEOZEE $200
BROL $600[EEOE $200
BHOZE $600[EEOFZ $200
O $300|22 OB $200
BROFE $300[#%CO8H $200
BROFE $300[#O I $200
BROFE $300|#5OH $200
i OFFIE $100[#5OH $200
H O I $100[#OF $200
RO& $1,000[#EO fi $200
i O $300[52O%E $200
i O $300[FROE $200
PO $200|2OF $200
MO $200[BROSL $200
=HOE $200 | Ok $200
FIORL $200[FROF5 $200
= O4 $200[HO%% $200
g OBk $200[BE O A $200
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Ok $200[ 2O H $600
HOF $500[BBO $200
10O $200[/FOHk $200
70 $200| B Ot $200
HOE $100|2£OB% $200
HOE $100[2£O= $200
MO $300[EBOZE $200
O $300[f O %= $200
O $500[5= O $200
BO% $200[EEOH $200
BO% $200| O $1,000
O $200[FEOfE $200
HOH $200[F O $200
SO $200[#AOH $1,000
SO $200[/HORk $600
FO=E $300[ROFEE $600
FO=E $300[Ek O ¥ $200
F0OE $400[ O $1,200
F0OtE $400[ IO $500
PROZE $1,900|BROFUEE $200
MO $1.200|BROZ4H $3,000
Zorilas IR AT $1,700[FOHE $20,000
H O $1.200[3£0 $5,000
PROZ $1.200(#ROFT $10,000
BROLL $1,200[HOE $600
EOH $1,200|BROZE $600
BEOWF $1.200[2£ O $200
RO $1,200) & FEHARNS- REAE $600
PO $1,200) B Ok $300
FOIE $1.200|=0O%F $100
RO $1,200)BECOBH $100
PO $1.200[ O = $100
HOZE $1.200[z=Odn $100
PO $1.200[z=OZ# $100
RO $600[=OFE $100
PHOFE $1.200[z= Otk $100
w=O% $1,000[FEO*F $1,200
5O $1.200[FROZFEZE $1,200
05 $1,200{ IOk $200
POHED $10,000{FR O3 $500
POEY $10,000| EO= $200
J1OH $1.200{= OF# $3,000
BROME $1.200|18O% $1,000
FOE $1.200|2O= $100
FHOH $1,200{ 52O $100
LOZE $1,200{ =0+ $500
HOZ $1.200)121O0% $515
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HO%E $1,200|F O $200
=HOH $1.200[H O $200
HO5# $1,200[FRO 57 $100
HOHE $1,200|E=OF $5,000
5O $1,000|5RO 5% $500
HOHE $1.200 (PR O $1,700
ROEF $2,000)E=0 &, $500
FOM $1255RO1a $100
#O $1.200{ZF O $500
BHO $1.200[ T O% $100
=0O% T $1,200[ T Of= $100
RO $1,500] T O $100
= O $1,200| T OE $100
T O $3,000)ZEOH $100
T OfmG#ED) $3,000{ T O= $100
TOHE $3.000) T OFE $100
T OxF $3,000) T O%# $100
TOE $3,000| =02 $100
HOWH $1,200)8£O8 $250
=0O% $1,200{ FO%i $250
HOFE $1,200(7%O F 35 $200
BHOH $125|3LOH $100
BROEK $2,000)f OF & $300
FROE $2,000[#H O 45 $100
O $5.000 |5 O%tE $500
HOE $10,000{# O $200
FO=E $1.000{EOH $200
£0HkH $1,000150 $200
EOK $1.000[ZEO%E $100
FO®= $1,200|1#k O $300
HEOR $1,000|48 O $200
PO $1,200|#8OLEE $200
B0 $3.000[z=OHFE $500
BO®R $250[= O $1,100
RO $250 5 L RAEVE T IS S $200.,000
HOHE $250[BROBLT $300
O $250[# O $500
SO $125|B1OFE $600
FOF $125[ IO $600
OB $500|ZFO%K $600
ENOY/N $500[21O7 $600
HOEE $500|ZF Ot $600
HOIE $500|ZF O $600
£ZOJN $100fR Of $200
BROZ> $100[FRO#h $200
FO75 $1.200[EO= $200
BO% $1,200[FR O F5 $200
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BOR $1,200[;TO%H $200
= O $1.200 TO KR $200
SLOTE $1,200|BROME $300
=ONE $1,200| £ OFE $1,000
s O $600|FH OFx $100
BROBT $300[=0 $200
BOM $100[ 2O $600
BIOFHe $1.200p O $200
s OFF $1.200 O $200
O $1,200pTOE $200
H OFE $1.200PTO%E $200
RO $1,200" O $200
G Ofif $1.200{#ROE $200
O $200)’TO%x $200
O $1.200({Z1 O $20,000
BROJE $300]H O $100
T O $1.200{#ROZE $1,000
HROZRL $1,200{ kO $1,000
O $500[=OF $1,000
MO $13.000|FO& $1,000
O $200[E OHBE $2,000
IOLS $200[Ex O EERIZ $800
HOH $500[t5O %% $300
e ORY $200[t5OFH $300
mO%= $200[t5OFH $300
MO $1.200|2£O %% $300
RO $100| O D $100.,000
#O $1.200{t5O%E $600
RORE $1.200|1#OkE $600
RO%Z e $1.200|1O % $600
PROZHE $1,200[{1 O $1,000
FOE $1,200{FOFF $2,500
ZEOM $1.200{#%COF $2,000
FH O $1,200)EO& $400
FOREAE $1.,200{ O HD $500
FOE] $1.,200) i O1& $200
FOEF $1,200| O $600
EOLHS) $500| 21Ot $600
BOEFH $200[# O $600
O $1.200[#F O£ $600
SO} $500[HOF $600
AROH $500[ O $600
A OE $1.000[ZE O $600
BOZE $2,000|#0O— $600
HOE $100[#OLE $600
ZFO $200[HOZ= $600
PO $500[tOF* $600
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BOHE $100[tOF* $600
EOR $100 [ O $500
=0O% T $1,000[5ROF $100
w0 $10,000[5O H - $100
FOME $10,000[BRO i< $100
BOR $10,000{ IO $1,000
PO $400[ = O¥6 $500
BROH $1,200|ZFOBH $1,000
HOBE $10,000|EFO i $1,000
MOEE $4.000|FEOH $1,000
BROZE $100) = O $10,000
BOIL $20,000| 5O $100
O $10,000|5=OHH $100
ZOMN $1,200[5R O%H $100
BROZ $1.200|FHO=F $2,500
RO $333 |05k $1,200
O $333[BROIE $1,000
HOHE $334| EOSEEHD $10,000
SO $500EfESF $200
GO $500| EEIAE $600
BROE $600[21OF5 $500
PROFE 5 $600[ & OBk $2,015
AEOE $1,000[ZIOF $1,000
FHOR $1.200 O E $300
HEASE $200,000] 7570 $10,000
FROHL $600[FxO% $300
=0%F $1,000| EO L $1,000
RO $500[=O®E $30
EHOR $1,200|=0FE $1,200
RO $760[ = OF% $100
BOE $10,000|E3O & $300
BEOR $10,000| 5O $100
=50 $200[=OH $100
s O $1,200| O $200
FR Ok $1,200{ EO= $200
BRO H4&l $1.200[220OF $500
MOz $4,000)#£O $500
BRO B $1,200[FFOF= $500
FOF5 $1.200[FH O $1,000
= O $1,200|5E O $1,000
= OB $1.200[£E OH $370
SO $205[220O%= $370
FOMgF- $1,200| TR FHEE $1,000
FOH $1.200{ZF Ot $1,000
FOK $2,000)E=0O &, $500
EHOZ $1,200[BHOE $100
EROE{CLY) $1,200|FPO=FE $100
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= OB $1.200[FH O $100
FHOXE $1,200[EOEARS 5 $100
H OB $200[## O $100
FOZE $1,200|121041 $100
H=OF $600|= O $100
e OFfE $100[EOfS $300
BROTE $1,200| EOEEZ $100
= O $10,000| EO$# $100
F O $1,000[FROF $100
HOFE $1.200{EO $100
ROZE $600[fr O &L $100
RO $600|Z2OREE $100
AE Ok $1,000)3O= $100
BOE $4.000[z= OAIAE $100
= OFHT $1,200|1 07T $100
O $1,200| EO HE. $100
=OXEM $1,200{ F=-OFHB $100
= Ok $200[ O $100
HOF $200[ 5 O3L $100
BO#H $200[7EO &L $100
BO% $200[ EOH = $100
g Ok $600[=O#HF $500
RO $1.200[z=0O%% $100
EOH $100| [l <5 $100,000
SO $100[HE O $500
B O $500[ & OHA 5% $100
BOE $500[ O E $100
HEOES $5.000) B OIE $100
=OME $500,000] i OF $100
it O $600[BROE $150
i O $600[5FOT $200
FOF $1,000)5£O% $300
RO H 5 $3.000[5RO&=F $400
RO T $1,200) 52Oty $300
BO% $5.000) B O 7 $500
FEOM $1,200) R O3 $500
£0{ $5,000[FF Oz $100
PR O B $20,000| & O $100
ZFOK $1.200[EHOFT $100
BEOZ $100|2F O % $100
fi OFE $100[fR Ot $100
fit O $100[#E Ot $100
S ORfA $2,000) 5O $100
ROFH $50[21OA $100
EO.L $200[ 5= OKE $100
BOE $500[ EOHk $150
BOZ= $500[FRO%E $150
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BEOHT $1,080| B O $150
MO $200[BR Ot $1,200
MOFE $200[=OH $1,200
MOFE $200[}OF=s2 $500
A OAE $200[HEOIE $100
HO%H $200[EOL $100
i O $200[40O= $100
i OFF $200[53O %) $100
AO*% $200[ & O $100
E=OUE $200[ 2 OB $100
O $200[ 2 OF $100
O, $200[HO%% $100
E=ORP $200[FROF& $100
EHOZ $200[= O $100
=OE $300[EB O $300
LOZ= $200|H O $300
HOFF $200[5T O $100
= O $200[5F O $100
= O $600[#OF $100
=HOH $200[EH O $100
= O $200[EHO#4 $100
EHOR $200[ 5O $500
=O= $300[BROHE $200
EAOR $300[ETORL $200
RO $200[ Ok $200
RO $200(21Of% $100
=O¥ $200[BROZ $100
£Z0O8R $200[ RO $100
£0OH $200{O 5 $100
BIOF $200[H= O $100
BIOHF $200) O $100
FO¥E $200[EB O $100
A $5.565|E Ot $100
EIETE AT $300|HFOZE $100
FOP & $1,000|Z O $100
FORMH $800[E O $100
BRO1E $1.000[Z£OH $100
F Ot $300 10 O $100
O $500[= O $400
O $2,000| O $1.800
FOHE $1,000( % Ot $1,000
£0# $100[ 7 O $1,200
g O $250|FOFF $100
FHOEE $100[FO $100
G ORERR $250[EHOFH $100
TOF $1,200|f O $100
PR O i 5k $1,200]faf O] $100
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BO% $2,000|EL O $100
RO $100[H= O] $500
TOTE $4.200|1#rO%E $100
OB $1.015EOtG $100
2O $1,000[BAOE $200
FOZE $500)|5=OE $100
FORE $300[FEORL $1,200
ZO1= $200FE OFEHD $100.,000
O] $100[FEOFEEHD $100.,000
HOT $100FEOEEHD $100.,000
wOF $100[FEOZEHD $100.,000
BIOF $200[FLOF5 5 $200
=0O%F $100|EO%x $1,000
FROZ= $500[FR O $200
HONE $500[#O 5 $2,000
RO $500[E= O $200
BIOFEHK $200| EO=E $200
RO $200[ETOH $100
210D $200|1E= O $1,000
21O $200|5=0OE $10,000
ZIOE $200[fRO=E $200
FEOM $200[E= OZREFK $1,000
BIOHE $200[ HHOFE $200
s O $100[#5O 2 $200
ROE $100[=O= $200
FO $200[FROZ $200
FEOF $200| A& OB E $600
O $200|ROF $600
BROZ $1,200) RO $600
PO $2,000) = OFEAL $200
(OLs $500[#FO%d $200
TOE $1,000[#OF $200
=0% T $500[FHO=E $200
HOE $1,200|#HOBE $200
A O T $1,000|# O $200
[ O4 $150[#O e $200
T O $500[FH O $200
HOH $100[FHOthH $200
FORH $600[FHOFE $200
FEOSL $5.000) & OFLFT $200
BIOE $10,000[HOE $200
OB $10,000{FPO%k $600
BIOKE $10,000) = O $200
RO $10,000|= O % $200
2IOE $10,000)FE O $200
BROE $10,000{2£Of# $1,250
BROZE $10,000]F Ok $1,250
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O $2,000[Z£Of& $1,250
EOF $15,000(ZZ0% $1,250
FOE $200[E=O% $20
1O $600|=O% $500
BOHE $200[FROES $200
BRO$#K $200| = Of# $200
BEO®Z $200] = O $200
BROEE $200] = O $200
(@) $200(Z21OF $200
RO $200( = OfF $200
BROTE $200{OAE $200
BROE $200|E OBk $200
RO Z $200({= OF] $200
PROE $200(#5OE% $200
B O $200TOE $5,000
RO $200(21O%F $100
HOR $100| O $1,000
BOE $100|FEOHH $515
EO=E $100|=OE $500
@) $100|FOsH $300
BOF $SI00[EEO2 $2,000
20OH $100|=OJH $100
—0O%t $1,000[F=O#F $100
FOb $100[E= O $100
HOE $100|=O= $100
O $1.200(E O $100
FOHE $100[B1O e $100
O SI00[FROE $100
ZFORF $500{=OFY $100
£FOH $500{=OfH $100
EOFE $500|=O18 $100
0% $500| EOF B $500
HOH $1,000[#R Oz $2,000
POF $1,200/ 4 O[E $800
PR O $1,2001#ROZ $800
FOFE $600|EOE $800
#OMD $100| 2O g $800
HORAEZE $100| £OH $500
HO4 $100|=OR $100
ZIOA $100[FEOF% $2,000
=HOH $100[FROZE $100
PO $100| £ O $100
SO $100[&= 0% $100
BO% $100| 2O $800
FOBBEZE $100[EFOEH $5,000
FO# $100|fH O $100
PROZE $100|EO+ $5,000
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O $100|FFO1= $5,000
iR OB $100|7OF= $7,000
ZOEE $100[=O#h $700
HOz= $100[=O#h $700
s OflIfE $100[z= O $700
TO7t $100[FRO#h $100
FOHE $100[ZF O $200
TOHD $100[7ROHk $1,000
TOX $100[fROL $100
HOX $100fR O $1,200
HEOE $100[ RO $1,000
HOE $1,000)&£ O $100
HOE $500[B1O%x $200
LR e AR E] $1,000{ £ OF; $100
5 RS- REAE $600[EOE $10,000
E AR E $2.400|BROF $100
#FOAE $5.000)x O $100
AOT $2.400|BROfE $100
FAOT $2,400)BR O $100
2Z0F $500| EO $100
BO $1.000) B O£ $100
HOR $1.000|BEOt% $100
BROZE $500[EFOi% $100
BIOF $1,300(PHE O $100
BROF $200[5T O $100
BOH I $12,200|3F O e $100
Jit OHR $1.000[FFOE $100
EO% $3.000|#5O W $500
20= $1,200) B OEY $500
BROH $500[E OB $1,000
ROB $1.000[H O $300
HOH $2,000| RO $3,500
Ok $500[ETF O $100
£ZO%E $200[ZEOE= $500
BIOH $100[E O $5.000
ROk $300[ O $2,000
BEOE $300[frO% $1,000
O] $100[frOF $1,000
BIOH $100| =05+ $100
ZIOEH $100[ZEO= $300
2O $100|52 O $300
O $100[m= O $200
HOZ $100[3EO= $100
O $100[¥E O $26,000
21O $100[#EOF $26,000
#FOJL $10,000{ O $200
ROBEE $1.000|ZOH $100
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SO $300[#EO = $5,000
ZFOsH $500[FIOF $500
HOSE $1,200{BROEE $2,000
=OE $1,000) &£ O5A $2,000
fit O5 $3,000( 75 2 > R A TR/ ] $500
O ET i $6.000|1#7 O $1,200
BOAE $6,000|H Of= $5,000
HOR, $5.000PTO= $5.000
£20) $600|BEO1E $1,300
=O¥ $2,000[2£O % $200
BOH $1,200[# O $200
BEOA $2,000(#OF E $1,200
TOH $2,000|BEEOF* $200
TOFx $1,000)EO’& $400
REGE T $1,000) O $100
SHESF $3.000| 5O $1,000
TO#HE $900[) LOETE $10,000
AEOE $500[7& Opel & $10,000
s Ot $1.200[EEO1E $300,000
EAOLEES $100[FROF $10,000
ZOR $100]5O $2,000
BROIE $100| = OFR%k $60,000
fite OF $100[#AOH $3,000
FHOLL $1,200[ &£ O F= $2,000
BROE $150] OBl $20,000
BROMW $1.200{ZFO%E $10,000
ZFOHE $500 it Ok $200
ROE $1,200) sk Ok $1,000
iTOTF $200| O $10,000
RO¥% $300[FEOF $600
ROSHE $400[= O &= $600
RO $500| 52O $10,000
BROME $500[#ORE $1,000
BROZR $100[=OH $600
BEO $1,200) &= Ol $600
EOHE $1,000|5R O % $600
BHOR $1,200{E= O£ $600
TOHS $1.200[#FOF $600
O $1,200| B O $600
POt $100|f O $600
w3 $100[EROIE $600
BIOH $100[f O = $600
s O $100 B O $600
A ORL $100[E= Ok $600
TOHk $150[FROLEH $500
PROZE $150| EOZE $600
BROZZ $150[)Z O $600
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BROH $500[E OB $1,000
FOE $1.200[H O $300
AEOFEH $500[= Ot $300
fit OIE $100 |5 OMEEHD $5.000
fitt O3L $100|2 0% $4,000
LO= $100[FBH/INE BH e ARl $200,000
O $100| FE A 2 & $10,000
GO $100|&£O EEREIZ $800
O $100[FRO== $500
gOE $100|18OZ $1,000
FOZ $100|E=0OH $500
RO $100| EOFE $1,000
e O $100[#FOFR $100
SO $300[#E O $100
HOHEE $300[#RO $100
s Offi $100[ PO $100
sTOfE $100[#FOF $100
PROZE S100|=EE $600
sTOX, $1.,200| E %k $600
RO $200|FO1= $200
ROZE $1,000{BEO%Hi $100
RO%E $1.000|FO& $1,000
sTORL $200[2£EOF5 $500
PROZE $200|210F5 $600
2IO& $100[EFO# $1,000
BROZ $100[RKOFE $100
MO $100[ RO $100
(TOEAETR) $500|=O7¢ $10,000
AHEOE $100|FhE T E AT $6.000
ORI $100[FRO= $500
AEOH $100[FEOE $300
FHOJT $600| kO $600
EORE: $1.200):HOH $600
H®OHEE $1.200)18O H $600
EHOE $1.200[=O# $600
BO%E $1,200) it O $600
BRO54 $1,200)52 OxE $600
1 OFIL $1,200[FEH OB $600
FOMH $900[FHOLR $600
HOE $100[&£OFIL $600
@) $1,200|&F O#F $600
MO $1,200|#EO% $1,000
EO= $200[EO kL $1,000
BROZK $400[O=E $100
BROB $1.200{FOE $100
KROJBE $600[FH O™ $100
RO¥ $600]f OFZ $5.000




MEEANSETRAIDFEHEENESE
OSTEHREE (TEEMR : BEFRE ARETL)

241 i E S X it i L
sHORF $1,200|ZO & $200
ROT $600[= O] $200
g ORE $2.400) &= OH $200
=0 $1,200) Ok $2,000
HO4 $1,200| 5= Ot $1,000
HO1E $1.200[E£O $200
= OFERL $200| EO= $200
MHO% $400 [ OBARIZ $100
BHOE $1,000[#FO4E $100
F O $600|2IO 7 $100
O $200[i=m O $100
g Ot $1,000|EOF5 $100
O $1,200[4LOE $100
RO $200[EO% $100
= OFF $200| EOEER $100
O $200[ EO#h $100
E QR $200|f OF= $100
BIOF $200[ EOLL $100
= Off $200[fr OB $100
AOTE $200[ZEOREE $100
s OBk $200[HEOz= $100
s ORI $200[ 5= OAILIE $100
BOE $200| EOJT $100
TOELED $200| =O HEL $100
FRORH $1,200{ F=-OFAB $100
O T $1,200| EOF $100
RO $1,200) 77O $100
SOHBE $1,200);E O $100
ZFOE $100| O H#E $100
w05 $100[=OE $100
E@ES $1.200[=OF $100
g OH $1.200)=O HA $100
g O%F $1,200 ¥ 5k $1,200
FROZE $1,200) ¥ /AR $10,000
POZE $1,200| B & $5,000
M Ot $600| /=& $4.200
w=OH $100[¢ T2k $5.000
FOF $100| F &y $1,200
SO #0) $1.200[ & tf $1,200
£ O $1.200| =& $1,200
#HOF5 $100| &9 $1,200
O $100 BRI $50,000
O $100| = $4,200
fafOle] $100[FEIE A $1,200
s T OM $600 | R £ 5 $1,200
T O $600| A $1,200
RO $1.200 (- Fi $1,200
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FROET $500| F & $1,200
EOH $1.200 | i &7 4% $1,200
AEORE $1.200[ZF B $1,200
0O $200 | i B, $1,200
+O= $200 | FE{EEE $1,200
FOXE $100|AEE B¢ $1,200
F O $1.200) R A $1,200
EAON| $500| 2 E $1,200
=0O%+ $1,200 /5 55k $1,200
BROBY $6.000| {755 %, $1,200
MO $100| 7Y $1,200
OB $100|3F= $1,200
HOR $1,000| X == $1,200
HO¥E A $10,000[E=4A)T. $1,200
=O $1,000|{FEE 5 $1,200
=05 $1,000[/EFE K $50,000
OB $1,000|ZF O $100
BRO & $1,000|1ZOt& $100
PROBK $1,000|EFO%E $100
Ol $1,200|EOf= $100
BROAL $1,200|Z O $100
MHOEFE $1.200[2£OH $100
EHOFK $1.200 [ O $100
BROH $1.200[EEORK $100
sTOREAE $10,000]F Ok $300
HOE $600[fR O $100
BHOm $300[=OF $5,000
KO $1,000|EO%z $1,000
ROFE $1,000{BR Ol $3.600
A OH $1,000) O $400
A OH $1,000)5=01G $100
A O $1,000|F O $500
s O $1,000| T OZ $100
e O $3,000| T O $100
O $500[ J OF $100
PROME $1,000| T O£ $100
BROE $1,000)ZOH $100
BOFE $5,000{ T O= $100
AIO $600[ T O $100
AIOE $600[ T O#h $100
MOREE $12,000| 02 $100
EO=6% $5.000)FE O3 $2,000
BEOM $8.000) &£ OF $250
eEg $2,000) EOFZ kst $500
R S AR E] $1,000{ £ OF; $250
o $1.200{ZIOF $1,000
1 $1,200[7% O F 35 $200
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(2 $1,200)3OH $100
AN $1,200{ =0 $500
A eTe $1.200)fOF = $300
TRAECY $1,200[#H OFF4F $100
Gl $1.200)122OF% $400
MREFAR $1,200|2 O $1,000
Bk $1,200) s O%tE $500
e lid $1,200{ RO FEAR $50
TRACT $1,200[# OB $50
2R $1,200[# O $200
35 $1,200]| EOAHD $500
2 22 $2.400[FH O $1,000
23R $1.200|ZOH $200
TRIREE $1.200[750 $200
Fiala $1.200[3EO%% $100
PR $1.200|1#k O $300
o5 $1,200|48 O $200
nEE $1,200|#8 Ot $200
78 I $1,200| 21O $300
2Rl $1,200|/50OE $300
AN/ 2 $1,200|121Of8 $300
LF51E $1,200{FE O $300
AREIEES $1.200{Z1OF $300
pAR i $1,200{FR O£ $300
WestES $1,200[FRO%& $300
JLEEIE $1,200|= O $500
SR $1,200)1F Ok $3.000
S $1,200)+O 4= $115
PR EL $1.200| ZEf TS $100,000
BRAEHI TR $1,200)¥ OB $500.,000
5 $1,200{EFOFETF $20,000
=851 $2,000|Z Ot $30,000
LOHE $100|F O $1,000
JLOER $100[ARO#H $5,000
LO% $100|Z2O%# $100
LO $100| 2 OFES $500
TOE $100F ORE $400
LO%E $100[2£0 ¢ $200
LOW $100[ RO $800
tROE $100|ZF Ot $400
LOE $100[#HO%F $400
BROE $600[HO T $100
£0 $600[ETOF= $3,000
BO= $600| RO $400
PMOTR $600[ O $400
E O $1,200{ AR O%E $400
HOE $1,200)/FEOFE $500
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EOR $600([FRO%E $400
MO% $1,200|B10OF $500
ZOWk $600|21O#E $500
20X $600[ZIO=F $500
FFOH $1,200{ FEO== $100
SOHE $1,200{ FEO%= $400
HOE $1,200|1#5 0O % $100
RO $500[#5O%E $100
ZIOW $1,200[210O%= $100
ESORKER $1,200[210O%= $100
ZNO=*E $1,200[210O%= $100
BROH $1,200(#5O 8% $100
O $600[#5OR% $100
Ol $600[EF O+ $1,000
O $1.200[FEO= $100
HOZE $1,200[5 RO = $100
FFO $1,200{ FEOBH $100
O $1,200{ FEOBH $100
SO $600| EOF $100
BEOFS $1,200| EOF $100
FNOEX $1,200| FOE $100
O $600| FOR $100
BEOF $200| EO78 $100
B $200| EO78 $100
EO/ $200[5EOZE $100
EOF $200{ZFO%k $100
ZIOF] $1,20015 Oz $100
EOR $1,200(FFOF& $300,000
EROZE $1.200[ O % $500
FO% $1,200| & OHF 3% $100
=OR $1,200|EOE $100
B5OZE $1.200[BEOIE $100
=OFI $1,200 [ O $100
O $400| EFOZ $400
HO=EH $1,200| FO#E $200
BOX $1.200(BEO% $150
7OJI] $1,200|22OF4 $200
PROLL $1,20015FOF $200
TROZE $1,200{5RO*% $300
BN ORI $1,200{L= Ot $300
FOL $1,200[fF OFE $500
FOFX $1,200|F O 8k $500
ZOE $1,200 (B O %% $100
BEOR $1,200[8 O $100
EO $1,200[HEHO#T $100
BO% $1,200[ Oz $20,000
ZOME $1,200|FOxEE $100
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FOR $1.000{FR OBt $100
AEOH $1,000{ kO $100
=0O% T $2,000|EOL $100
frOT $1,200{IO $100
FOHR $1,200) &= OKE $100
2O $1,200) B O $200
RO $1,200[FR Ok $200
FOE $1,200) Ok $150
RO $600[FRO%E $150
BIOHH $600 [ OZ $150
FOK $600|fH O $200
B0 $600|fF O3 $200
O $600[5EOF $200
FOE $600[t5OAY $200
RO $1.200);E O $500
BOH $200[HEOTE $100
ZIO $1,200)1 O=L $100
BIOPAT8 $1.200)4&2 O $100
w=OEE $600|58 O $100
TOTE $600[ & Of $100
OB $1,200( % O $100
BROE $600| % O $100
= O% $600|FEOZ $100
BHOZE $1.200)B OF& $100
s O $1,200) 5 O%#, $100
BROBH $200[EB O $300
HOH $200|H O E $300
EAOLT $200[F O $100
wOZ $200[5TOf $100
s OFE $200[t O+ $100
EAO)E] $200[EH O $100
£0% $500[FAO #h $100
g O $1,200| 52O $500
A Ot $1,200) RO $1,000
w16 $1,200(BRO & $200
SON $1.200[FFORK $200
OB $500[#F Ok $200
ROBE $500[21Of% $100
sTOMH $50,000 B OZ $100
B Ol $1,200| PO $100
BROBE $200{O 5 $100
BEOF 1 $100[H O $100
ROz $100)E O $100
HEOM, $100[5OZ%& $400
=OH $5,000( % Ot $1,000
BEOEE $100|F OHD $200
HOTT $600[ & OIEl $500




MEEANSETRAIDFEHEENESE
OSTEHREE (TEEMR : BEFRE ARETL)

241 i E S X it i L
=OJE $600| P O $10,000
MO $1,200#5O i $200
O $1.200{58OF5 $100
PROZ= $600[FO $100
ERORL $1,200)EHOF $100
#®O= $1,200|f O $100
sTOBR $1,000]4af O] $100
FOuk $1,200|F O $100
RO $1,200)FE O] $500
ROE $1,200|1FO%E $100
ROEEAE $100[ZIOH $100
tROF $100[RO% $300
RO $100[/FO1a $100
RO $100[21OH $100
#HOEE $100[B[OHF $100
O $1.200[21OERd $100
£OE $1,200|121O 7% $100
ZOHE $1,200|#OR $100
HORE $1.200[HEO 2 $100
FOF $600[F2 OFx $100
E O $2,000{ 21O $100
A O $2.400[BHOE $200
HOH $2.400|1 21O $500
HOE $2,400 (PR O R $400
i O gt $2,400| 20O & $100
TO= $600 &k OfE $6,000
ROE $200/2=0O%% $1,000
MO $1,200|EOf= $5,000
BO®&H $1.200[=0OF $100
RKOH $1,000[= OFFF $100
=OE $200[ 5= O $100
FIORL $200[=O $100
O $200[5=O## $100
#TOX $1,200) 21O $100
#FOZY $1.200)B O $100
O $1.200[z=0O%# $100
E O $1,200)&=Off $100
MHO4 $1,200)&= 018 $100
g OBk $200[fr OB $100
Ok $200{EO]II $2,000
EEO# $1,000,000]| O $100
RO $100| O $200
BOR $1,200|E= O $500
EAORE ) $3,600[z=O & $100
BIOE $500[E O $5,000
HORE $500)&xOx0 $10,000
BIOKE $500]Ek O $10,000
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BRO% $500[ & Ol $10,000
BIOHE $500 &k Otk $10,000
BRO $500[Ek O $10,000
BROZE $500(21OF5 $600
O™ $1,200| FO= $1,200
st OHk $1,200{#AO 18 $1,200
FOH $1,200| £ OFE $1,200
£20) $1,2004£O= $1,200
BOE $1.200[5 O $1,200
BIOH $1,200|F O $1,000
21O $1.200[E O $1,000
£0% $1,200{FEOffx $1,000
MHO&E $1.200| R OF B $4,000
ZO&E $1,200{ = OJEL $10,000
FIOREL $1,200[;5%O1F $75,000
RO $1,200|E O $1,000
BROZR $1.200{ZIO% $75,000
1Ot $1.000|210H $10,000
O $300[FROFIL $1,700
BROE $2,000| Pk O%F $5,000
#O $1.000[E OHBH $2,000
O $10,000| O $3,000
HOZ $10,000[#O $6,000
F O $10,000[HOF $100
£0 $10,000{E=O=E $100
HOHER $600[ZBOfF $1,000
sTOH $1.000{FROZK $10,000
BROZ $1,000[#ORk $6.000
EHOF R $1,000] = OB $100,000
s ONE $500[#ORE $1,000
s ONE $500[FE O $300
s ONE $500[BEOH $100
s O/ $500[7rOH $100
sHOR $200[= Ol $100
S OME $10,000[F=OZ# $100
OE $10,000|E= OFZ $100
sTO $50,000) = Ot $100
ZOEKRE $2,000|1220O%% $10,000
FIOEK $2,000|122 0% $1,700
+O% $2,000{tRO% $1,700
£ O $2,000| RO $1,700
HOE $500[= O $100
H OF $500[ARO $2,000
it OFE $500| =0+ $10,000
HOM $500 R OF5 5t $500
PRORME $2,000{ZOTT $1,000
O $2,000{5E O $1,000
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P O3 $2,000|21O%5 $100
RO $2,000[5E O $100
PR OF% $2,000)58O A+ $100
FEOE $500|FEOS% $12,000
O E $2,000)58O2 $1,000
2O $2,000| 7R O4# $100
BOZE $2,000|# OB & $10,000
20 $2,000|12.0 $50,000
2EO1H $2,000|EOE $3,000
2505 $2,000| HOFE $100
RO $5,000[EF Ot $3,000
FOF $2,000|1 R O% $1,000
250OH $2,000| RO $500
FO¥ $2,000|HOFE $650
FO4E $2,000|FHOE $650
FOT $2,000|HO ML $700
OB $1,000| RO ZEE $300
OB $1,000[[HOR $300
=OZE $2,000|F5O $400
O $2,000[5EO%fi $10,000
BO $10,000|EHO¥% $3,600
GO $1,200[FOE $10,000
GO $1,200[ EO§HE: $1,000
Hz AR/ H $100,000[FEO (4 $41,000
FRLEETH $2,000[FEO (4 $50,000
SEHEHRAE $100,000| EO#R $20,000
34 $1,200 5 O $500
TIEE $1,200[FEO% $100,000
ZNEE $3,000/50% $500
FREY $1,500|BEOE $6,000
ExtcA $1,500|FROFFEE $3,000
P O $10,000| O $3,000
BOZ $1,0005O1E $50,000
PR Ok $300|1#5 Ol $1,000
BO2 $2,000|EOH $10,000
2O $1,200| EOEE $1,000
FEORE®) $1,900|FHOE $500
ExORERA $1,000PLOEE $1,000
=OLL $400|FROZE $600
O $2,000|fFROZE $1,000
O $1,200|[HOEH $1,000
PR Otz $1,200[FEOA $6,000
=O& $200|fROEE $1,000
EOR $200|250 $1,000
ZEOH $1,250|&ROFRE $500
P OFK $1,250[f5OH $1,000
2O $1,250[Z= Ol $5,000
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ZOHE $1,250(BR O $5,000
ZOF $1,000{¥OF $2,000
RO $1,000) ¥ Ot $10,000
#EO1H $1,000]| B O $200
sTORE $100[E= OBk $10,000
[ O4 $150|=O4F $500
FEOR $300[F O $500
FROZHE $6.000[EEOH $10,000
ROE $200,000|22O% $1,000
£05%8 $200[FEO == $10,000
PROF $200[#Oz= $2,000
HOE $5.000) 52O $500
TOFE $200[{E& O $6.600
OB $500[ EO* $2,000
FORM $100|7=O% $1,000
RO $200[7R O $10,000
WO $20,000|#O%4F $1,000
FFOXK $10,000EEOF $10,000
O $1,500[E Oifl = $500
BROT $100|2£ Ok $1,000
BIO=E $1.200(FRO% $1,000
PROZE $100| = OFR%k $2,000
PROZE $100| 52O $500
PROZE $100[Ek O $1,000
O $300| EOE $500
BRO & $300[5=OEH $500
ZOlig $300[ 2 Offg $5,000
BHOE R $1,200)5=OZx $12,800
TOE $100[=O $500
TO%& $100[# O $3,000
10O $1.200{= Ot $300
e OLL4H $1,200)B O $1,000
GIOES $1,200) R O3k $1,000
FOH $1,200)BEO $500
ROE $1.200|FO# $1,000
B OF(] $1,200|BHOA $500
RO $1,200) ¥ O $3,000
O $1,200) 8 OF 55 $500
RO $100| ¥ O $100,000
BRO#% $100[F O $300
BRO#% $100|2£Of% $500
FOFE $1.200|EOF $2,000
BROE: $100[EOFEE $2,000
BROZE $100|PROZ $1,000
BROE: $100[ZIOIE $1,000
w=OR $100[EEOH $5,000
w=OME $100|5TOF $1,000
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O $100| = OFely $1,000
=O[ $100|fHOZE $1,000
=OM $100|HEO#F $1,000
2O $100[FEOMEE $600
PROZE $100|FROFx $1,000
=HOFH $100[3 O P i $1,000
=OWE $100(BR O EAE $1,000
=OE $100([FEO $1,000
TRO# $1,200128OF $600
sROE $1,200[f2OZ $500
EO=E $400|EFOZE $600
220 $200[:EOJEL $1,000
FOZ% $200{ZEORK $500
FOHE $200(FEOHE $6,800
O $200|EO= $500
HOE $200) O F & $1,000
FOF $200|EOHE $10,000
HOFE $200|FEOM $500
FZO&% $200|FREOREK $500
HOEE $200(PE O H 4 $1,000
HO $200( & O $1,200
=O4L $1,200(ZIOFE4 $500
= O $1,200[=Ol5 $1,200
MO $1,200|1#AOZL $1,000
BOEE $300HEOFY $400
FEO#E $1,200[FE O $3,000
MO $1,000|FE O $500
PROTF $100| EOH $300
PROTF $100[ O $10,000
PROTF $100|EOE $200,000
=0 $1,200[f2 O3 $8,000
#HOLL $600|= 0O $500
RO $100|BEOE $3,000
FO $100[z=OF $1,200
FOH $100[FOH $600,000
PROE $100[E O $2,000
PROE $100|= O $5,000
PROE $100|ROfZH $1,000
PR O $100|F Oz $5,000
PR O $100|ZIO% $500
PR O $100[FO $100,000
FOHKE $100| EO#k $1,000
FOHKE $100|EFOFI $500
FOHKE $100|ZOE $1,000
PR ORE $100|ZEO1E $1,000
PR ORE $100| EOH $500
PR ORE $100{ = O $500
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BROf $100| O $500
RO $100[E Oz $1,000
RO $100[E Oz $2,000
sTO% $100]EHO & $500
sFOi% $100|BBO%E $1,000
s O $100[5OHE $1,000
BROZ $100|Z2 O $500
BROZ $100[5OFEE $2,000
BROZ $100[ 2O $300
eSO $100|FFCOK7 $1,000
sTOFE $100[H O $200
sTOFE $100| O $500
sTO =, $100[H£O $300
sTO = $100[FEO T $3,000
sTO = $100[F=OFAL $100.,000
sTOZE $100[ = O $200
sTOE $100|E=O= $100,000
sTOE $100|FR O $500
BROAIES $1,200(BRO & $2,000
EXOE $1.200[7RO%E $10,000
HOTE $600 | O%# $10,000
RO $600[5=O $10,000
HORE $600[#FOH5 $1,000
HOIR $600|BRO 5 $1,000
L@ $1.200(FRO%E $1,000
#®O2 $1.200[EHOLE $500
£Z0% $300| O $500
OB $100|1FO4 $500
TOF $100| EOH $500
H OFk $600[ FOZ $500
AO58 $1,200|ZO= $2,000
O $1.200[# O $5,000
=08 $100)7%O $10,000
=OH $100[PROAH $2,000
= O $100|FEOEE $1,000
FOZE $600[HIOA $500
BEOjw $600[ IO $500
BEOR $600[HIOZE: $500
RO $600[FROHE $2,000
#O $600[FRO $2,000
HOJI $600[FEOF $1,000
HOH $600[FEO5 | $50,000
FRO*% $600| EOF $500
BROB $600| E O] $500
RO $300[FFO%k $600
2I0OB= $300[EBO%k $2,000
=OR $100|HOL= $1,000
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BO%E $300| 5 O1= $5,000
O $1.2000TOZFE $1,000
BOE $1.2000TOZFE $5,000
s O $6,000| EOEVE $1,200
ZORE $10,000[# O $5,000
ZOFE $10,000|1ZEOMHE $1,000
2O $10,000[Z0Ok $500
BOH $2,500| &R O, $10,000
BO $2,500[f1OF5 $1,000
RO $10,000{ = Of& $1,000
BROIT $1,000| 0% $500
=OE $1,200/BEO# $5,000
=OE $6,000{FROEEEY $2,000
2 OHE $500|FEOEN $100,000
MO $500|5FOF5 $500
BROZE= $1,200/2O% $200
MOEETFREE—[E $5,000{&0O $10,400
MO/ $1,200] Ot $2,000
O $1,200{F2 Ok $10,000
AEO $1,200{5E Ot $1,000
FLO $1,200{#FOF $1,000
HOE% $1,200| ROz $1,000
HOH $1,200| O % $6,000
2O $1,200{#50O 4 $330
OB $1,200{5E O 44 $300
21O $1,200|52OF4 $200
21Ok $1.200| =0 %+ $50
2Z0O% $1,200[ =0T $300
HOE $1.200| =0 %F $300
ER O $1.200| =0 %+ $500
ERO%% $1.200|=0O%F $500
EHROZF $1.200| =0 %F $500
# O $1.200|=0O%F $300
#OEHD $1.200|=0O%F $1,000
&R O $1,200|=0O%TF $1,000
O $1,200|=0O%TF $1,000
HOE $1.200| =0 %+ $1,000
ZOE $1.200| =0 %F $2,200
#FOL $1,200[ 5 OS1E $2,500
EOR: $1,200[ 5 OS1E $8,000
BROE $2,400|5F O Hr ik $300
HOZ $1,200{21O $200
=08 $1,200|210O $300
EOTE $1,200{5EOF% $10,000
OB $600[FEO U1 $3,000
RO $1,200|5F O4EE $1,000
EBO $1,200| HROER $1,000
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A OFg#(] $600 R O $500
A OZEEE $600]/5O 24k $500
ROPRE $1,200)8 O 8t $1,000
A O>L $600[ &= O%J $500
ROZE $1,200) &= O $1,000
HO#&H $1,200[ZF O} $300
#OfE $600[BR OF5 5= $1,200
NOF=ES $1,200) B OA $2,000
Z0 $1.200|£0E $400
O $600 O E $200
FORK $1.200[7R Ok $20,000
FOME $600[ & OFF $300
O $600| EORELD $1,200
E O $600[H O $1,200
TOBAL $600| kO $1,200
T O $600| 21O 2Tk $1,000
FO= $600[FO < $1,000
T O $600|f OF5 $500
F O] $600[Ex OFE $3,000
FO#= $600|EHO F $500
£ O $600[#O%H $500
BROH $1,200| O =il $500
O $1.200[z=0O $1,200
i OF7 $1,200{B0O&H $400
i O $1,200{ELON $1,000
BHOR $1.200)EO H $10,000
BEHO= $1.200[FR O $1,000
BHOZ $1,200|BEO AL $2,000
BO&E $1.200|2O& $100
HOF2 $1,200)&£OFK $500
£0%H $1.,200)FHOJI $1,200
FR O $1,200|FE O $600
HOFE $1.200{ZIOZk $200
HOR $1.200(#5 O~ $500
Ok $1,200) ¥ OFK $10,000
OB $1,200| = OF Kk $500
HOE $1,200)F O $500
OB $1,200|F O $2,000
SO $1,200|E O $3,000
PROT $1.200[{iOJ5 $500
RO $1,200| FO% $1,000
FOE $1.,200) B O 1 $1,000
EAOES $1,200) B8 O $500
HOWs $1.200[FFO= $2,000
BROZE $1,200) 5% OFK $1,000
FHOT] $1.200[E0 $500
BOE $1,200]BR Osft $500
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ZFOtiE $1.200[E:OR $10,000
Z0O $1.200|22OB% $500
FOHIE $1.200[220%= $500
BROZ $1,000{Z£O1E $1,000
BEOX $1,200|5RO H $300
HOF $1,200)4&C OF $500
F O $1,200) &= O $1,000
sTOZE $1,200)iFOR $500
sTOfH $1,200) O $1,000
KOH $1.200[EE O $6,000
FORKTE $1,200)FO4= $500
O $1.200[FBOFE $2,000
HOFH $1.000{5 O $100
INNS=E2 R G A R $6,000) F O $1,000
MRORE $1.000[E OFEL $1,000
=HOR $1,000[zFOE $1,000
HOBH $500[FH Ot $500
HOBH $10,000[EEO= $10,000
HOSE $20,000) EEO (& $6,000
HOT $100|BROEEHE $1,000
=O%E $100[FEO%k $1,000
HOE $500 | OF7 $1,000
HOEE $10,000[FEO T3t $50,000
PROZREL $300,000{FECO $500
=0% T $100[FEO $2,000
tROZE $600[FEOZ $20,000
MHO& $600[ZFOHE $340
FOE $600)7% Oy $1,000
BROZ $500[ 2 O% $600
£0% $300[ 5 O $2,000
O $300[5=RO%k $200
s O $100| B O I $300
BOE $200[=OF $300
BRO$ $1,200) RO $500
£0# $200|f O $10,000
FO% $3.000)1#EO H & $500
BIOZR $200|22 O $500
BORE $200| O $500
BO= $200| EO#= $500
EO.L $10,000{ O $500
ROF $1.000{ZFO%F $500
=OZ $1,000|ZFO#F $500
HOSFEHRE $50,000[F= OBk $500
PROE $10,000{F=O= $3,000
BOE $2,000#8 O $1,000
L@ $1,200|EH O $500
BO= $2,000[HHO %) $500
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O $100[ FO $500
RO $3,000| FOE $500
PROAL $600| 52Ol $500
(OLs $500[HEO 1% $1,000
FO58 $1,200|EOH %k $3.000
O $1.200{fFOHE $200
RO $1,000) 5% O=L $200
HOE $500[{H O $200
HOA! $500[{H O $200
fit O $1,000|5R OZAL $2,000
HOL $100| O $1,000
HOML $100[75 Ol $1,000
HOH $100[#FH O $500
JBOH $1,000|FHRO4E $1,000
AOH $1,000{BAOEE $1,000
ROBL $100[EEOE $1,000
ROBL $100[EAOFR $1,000
ROHT $100] 8 O [l $300
ROHT $100[0O%% $20,000
FORE $10,000[EE OB $1,000
BOHE $10,000| s O $1,200
= Oi% $3.000| B OFZ $500
MO&F $600[EFO&L $10,000
PEESFHAERE $20,000|FROBE $1,000
#FORBZR $800[EOE $1,000
ErOEL $300[k O $1,000
BRO1E $1,000{BRO1H $200
O $2,000|F O $500
A OPk $1,000|# 0O $10,000
FOZ $1,000{ FOME $1,000
2IOF $600| EO% $2,000
O $250[FOF $1,000
O $200[BEO H $200
g OHEER $250/2£0 $1,000
O $1,000{¥O%H $40,000
=0% T $500[FR O $200
wHOFE $1,200{#ROEE $100
FOHR $1,200| O $100
MOFH $1.200[=0O%E $100
ROF5 $1,200[FE O $10,000
O $1,200{#O1L $50,000
o OF $1,200|#% OB $50,000
EOH $1,200) B O $1,000
O $1,200{FEOK $1,000
2O $1.200{¥ O $2,000
POk $1.200|EOf% $500
FOZ $1.200|1#+O e $2,500
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#OAE $1,200|1#k O $2,500
BOHE $1.200[FEEOFH $5,000
FHOZE $1,200| O $1,200
g OF $1.200 = Ot $1,200
RO $1.200(#ROF $1,200
OB $1.200| 52O $1,200
OEE $1.200[FOE $1,200
O $500[5OZE $2,000
MOH $1,200|=O#F $600
LOZEHE $1.200[HO%F $500
BOH $2,000{5OFE $500
2081 $300[FHOF $1,000
SO&. $10,000[Z2O= $1,000
HE O $10,000| FOFE $1,200
1 OBl $10,000[ ZOF $1,200
RO $1.000/EEO & $30,000
BROA $10,000EEO%E $10,000
HO® $1.000[EEOF $2,000
s ORT $2,000|=O1L $30,000
=0% T $30,000|5= O $10,000
FHOE $2,000[z=OFEE $10,000
BOF $2,000[z=OH $10,000
RO $1,200)E=O8 $10,000
BOE $1,000|= 0% $10,000
PO $300|FO% $10,000
(@5 $300[7=OfE $10,000
O $300/2£O4 $2,000
MOZR $3001°TO $1,000
MHOZ= $300[ZF Ok $5.000
PO $300[FFO% $500
HOfRE $300|¥ECOE $10,000
BHO— $300[ZEO %+ $6,600
HORE $300[fE Ot $5,000
MHO= $300|BRO L4k $5.000
BHOF $300|#OpkL $1,000
BEOF $300|E Ol $1,000
HOE $1.200[EOF $1,000
RO $1,000)5 O = $1,000
HO%F $1,000)# Ot $1,000
BEOZ) $1.200[EO= $1,000
FROH $5.000| EO% $1,000
BIOH $1,000) O $6,000
BROH $500[sE O $1,000
FEOT $20,000 & O $600
HOECER) $200|EOFH $10,000
ROFEHE $1,200|E O $1,000
=OH $1.200{ 52 O%k $300
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w=OE $1,200)55x O%F $1,500
=O%E $1,200|7= 075 $1,500
FO=E $1,000) ¥ O%tE $2,000
A ORL $100[&£ O $1,000
BROSE $100|FROAEHH $1,200
O $5.000|F= O $500
HOXEK $20[# O $5,000
E ORI $1.000(#O < $500
FOBE $5002 O%J $200
TOXR $100[FH O $500
JTOR $100[ = O $1,200
TOE $100[22 O/ $600
JTOE $100) = O $1,000
B OH $100[FFOFKEE $500
10= $100|ZFOF $2,500
TORE $100[ZFOH $2,500
T O## $100[=O®E $5,000
TO¥ $100[ EO# $100
FRORL $250[ 2Ok $200
T O $250| 2 O=F $200
RO T $200[ 2O $200
w=O% $500|1FO $10,000
HOHE $100[FO K $1,000
FROFE $300| s O 5 $10,000
HOWEE $100[FEOZx $1,500
HOR $100[FEOH $1,500
w05 $100|E=0 $500
w=OH $100[ZFOF $100
FOF $100[FROE $1,000
i O $300[=OFE $1,000
MO $200|FORk $300
A O T $1,000)BECO40 $1,000
BROf $1.200{fOZK $1,000
HOH $200[ 52 O3R $1,000
RO $1,000|EO% $1,000
HOF $500|E O $2,000
70 $200|21OZ5E $1,000
HOE $100[5R Ol $5.000
MO $300[EOH) $2,000
O $200|2£OF $1,500
SO $200[ EOFH $1,500
FO=E $300[# O $1,000
F0OtE $400[FEO % $5.000
BROZR $100[EEO & $5,000
O $30,000) 5= OB $1,000
O $5,000{#5OC %k $500
BROIT $100[FEEOH $6.000
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OB $20,000) 5= O $1,000
HO{ $3,000[FEOEE $2,000
£0% $500[ER Ot $2,000
BROE $100[ROF5 $2,000
BRO3 $500[ R O $2,000
BROFE 5 $100[fR OB $2,000
FHOME $200[FEOZK $10,000
BROF5 5 $1,000)E O $1,000
BROH $500[ 2O $300
BOWE $500| EO=& $330
FROEY $500| EO= $340
O $3,000)E O $1,000
HOR $1,000|EOH $1,000
BHOm $300[BEO $300
RO A $10,000| O $500
BOZERd $300[ O $330
BOF7 $300 [ OFE $330
O $300[2EO % $500
BEO5% $300[FEEOF $10,000
RO $300| & OB $1,000
BHO=E $1.200[E O $1,000
O $1.200[EOFx $1,000
ZO1 $200[= O $500
BO $1,000) B OES $200
O $500[21OF5 $50,000
MHO& $600[FIONH $50,000
HOE $100[4£O $300
FHOZE $100[8EO%& $10,000
O $100[FHO1H $1,000
BOF $1.000{#ROEE $1,000
PROAL $600[= OFF $500
BRO B $300[E= Of# $500
T OB $200[FE O $10,000
£0E $200[FR O3 $2,000
HOBABIZR $100[ARO*HE $1,000
O $100|FHO% $1,000
[ @5y $100[%0O 5 $500
EHOM $100[t5 O $500
BOfS $100[=0O% $1,000
BO $100[FHOHK $500
FEOBERMZ $100[FEOZE $600
EOF $100| EOIE] $400
RO $100[38OF5 $400
FO $100[HEO X $400
FROR $100[#EOF $400
ZOREE $100| PO $1,000
HOz= $100[FLOFE $200
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s OflIfE $100|BRO & 7 $200
BO% $100[HO 5 $1,000
ROEE $300[FROF $300
TOJt $500[FROLE $300
EOE, $100|2IO% $1,000
SO $300| EOFE $500
O $1,000|tR O $2,000
@RS $1,000) ¥ OE $10,000
ZOTR $100|#EOF $10,000
#Ola $100[E= O $1,000
O $100[BRO%E $500
HOL $100[# O $500
O $100[F1O% $1,000
£ZOH $100[HO%E $250
FIOF $100[#FOFh $250
FOH $200[HO&L $500
PROT $200[ZEOFF $300
£ZOH $200[FHOZ $200
ZORK $200|152 O $500
HO=E $10,0001=0O%E $100
HOM $1,000|FOf% $300
HOPR $1,000|5ROHESF $200
AEOE $500(45 $200
g OB $100[5FOH $200
HOR $100|ZF O $200
BROIE $100)220 $200
i OF $100|EF O $1,000
BROZR $10,000{fiEOFE $200
FOEE $202 ORI $500
TOZEZE $400[= OHk $200
TOH $200[FEOFE $6,000
BROE $150[EEO#= $2,000
£0 $200[EE Ol $6,000
fTOTF $200[FE O $6,000
RO $300|2OFF $1,000
SOt $300[EE O $1.000
RO $500[21O 2k $2,000
BROME $500[£1O $1,000
BROZE $100| g O $2,000
GO $100[EO% $36,000
sHOH $100[FEO $6,000
sTOSEE $600[EEO $20,000
fO%E $500[fO= $1,000
POt $100[=ORE $500
=OX S100[FEOE $10,000
BIOH $100[FEEO# $10,000
BO%E $100|5=07T $5,000
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= ORE $100|HEONH $5,000
PROEE $20,000[E Ol $1,600
BROE $200[ERO%k $300
BRORL $200|5=OFE $2,000
TOMK $150 &k Ot $10,000
BROZE $150[HE O $2,000
BROZZ $150[#EROfA $1,000
BROFH $200[#AO40 $20,000
BROE $200[ZF O $500
FOH $200[FEOH $500
BOBL $200[FEOZ= $500
AEOFEH $500[F O $500
fiE OIE $100[FEORX $5,000
fitt O=L $100[FEOFF $5.000
LO= $100[5OE $3,000
O $100[FEOHH $500
g O $100[F1O#h $1,000
g O/ $100[#£O H ik $500
qOE $100|BB O $1,000
HEOZ $100[RO%E $1,000
FRO®E $100[#O & $300
w= O, $100|=0O & $500
O $300[#OBH $500
HOEE $300|F OFE $200
s Offi $100[ZFOHE $300
sTOfE $100[FIOEL $100
BOT- $100[FIO%Z $100
EHOH $100[FH OB $500
sHO# $100[FOF $500
RO $500[FHOEE $500
BRO#E $200 1= Ok $1,000
RO $1.000(HROE $1,000
sTORL $200|FFOH $500
PROZE $200| ¥ ONE $50,000
2IO& $100[EEOE $1,000
BROZ $100[FO=H $1,000
PO $100[EOH $10,000
AHEOE $100[FEEOF $6,000
FEORM $100|FOZEHD $6.000
AEOH $100[FEORH $2,000
RO $1.000EEOFRE $6,000
ROZR $200[E= OFF $10,000
g O $1,000)EO& $1,000
FOR $600|FECOZ $500
BROAL $200[F1Oix $500
TOELED $200[BIOFF4k $500
BOHi $200]122O¢ $2,000
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#HOF5 $100[#O& $1,000
O $100[EEO R, $1,000
sHOF $100[ O $1,000
O3 $100[EEOE $400
{afOle] $100[EkOF= $400
HOE $100[EE O $10,000
O $500[ O $6,000
MO $100F OAN $500
206G $1.200(#£CO $500
HOE $100[FFO $500
POt $500[3 Ok $2,000
Ok $500[FEOEE $10,000
FOER $500[E Ot $5,000
FOEE $500[EOIx $5,000
POy $500[{HOF $5,500
R ERSE $4,265|7kOFEF $1,000
+O% $1.,200 s Ot $1,000
sTORE $100[Z£O $500
BEOE $1.015|BROFEE $2,000
ROZ $150|FO¥F5 $1,000
MO $1,900{21OFA $2,500
BEOE $12,000{21O/ $2,500
ROE $100|PEOFA $1,000
£ZOE $100[EHOBK $300
FROH $1,000]faf O Ft $1,000
F O $100[EOIEl $5,000
BHOEE $1,000) O #, $5.000
BOZ $1,000| kOt $2,000
EAO R $1,000| FOF $1,000
205 $100[EEOfZ $2,000
BIO®T $100|FHO I $1,000
BIOTLRE $100[FROZ $2,000
2O $100FEOE $1,000
21O $100|Z£OFF $1,000
FO1E $1,000[f OFZ5 $500
LOHE $100[FRO $500
JLOER $100[EOEE $1,000
I O4 $70| 2 OfF $1,000
BIOH $100[F O] $500
O $100[#OZ $1,000
Oz $100[=OAE $1,000
FEOFx $100[HROL $1,000
LO% $100[E= OEFK $500
LO $100[Z= Ok $250
TOE $100[ = O $250
LO%E $100[7ROZERK $500
LOW $100[#EOE $6,000
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tROE $100{af OFE $500
LOE $100[BRORE $500
I O% $70[5R Ot $1,000
PO $70PTO# $300
SO0 $500[= Ok $300
=00 $500[fR OF5 $2,000
O $1,200[FROE $1,000
O $200[= O $2,000
PO $2,000[/RO= $10,000
EOF $1,000[f1OFE $2,000
MO $1,000|PF Oz $1,500
TOAIED $500|BFO B $1,000
RO $1,000) PO $500
HORE $300[#£O $1,000
=OX $300[#FOA R $3,000
HO= $300[ RO $3,000
BOZE $300[Z O $2,500
FEOR $300[ & O $2,500
#HOHF $10,000| 2O $2,500
RO $50,000|F=O%k $2,000
T O $1,200[ALO % $1,000
#FOF $3,200{50 O34 $1,000
it O% $1,200{F O $500
sTOE $1.200[HEOF $1,000
HOHE $1,200[# O $2,000
sTOfH $1.200[EE Ok $100,000
BIOF, $1,200{FE O $10,000
=O4 $1.,200] (35 $33,100
w=OR $100|EE1EF $16,000
w=OME $100[/#E L2 $2,000
=OE $100| EPRFESF $10,000
=0 $100[ Az i ffh 2y $20,000
w05 $100|Z=HEME S $4.,000
RO $100| S i EoeE 11 $40,000
FROZ= $100|/4 4w 224l (Polik) $20,000
= OF $100| B {FhFreE $100,000
w06 $100| A BUVA AL 28T $10,000
=OME $100| HEF 5 $10,000
£0H $1.250| &b fh#rE $10,000
BROTK $1,250[FFHEHE ST $12,000
£01E $1,250[FFHEHE ST $32,000
ZOHE $1,250|T¢5F $10,000
=OR $100[/ATCSHE1E $6.900
EHORE $1.200PETCSFELE $100,000
= OF $1,200| {867 $40,000
g O $1,200)3 R 2= G Bl H] $6.800
=OR $1,000[7EFESF $6,000
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HOE $1,000[Fit8 T (A PR/ ] $2,000
BOMH $1,200 [ FEM & =7 $12,000
=05 $500| 2 SFE1E—[F] $10,000
HOZ $1,200[ 5L S0 (E1E—[F] $20.800
HOBH $2,000| 5 & KA 22 F] $6,000
frOF& $1,000|1E&F $100,000
OB $1,000[PRZFESFR{ETE [ $20,000
#OHE $2,000|{#54E=F $200,000
BERO%F $1.200EEMAARZE $100,000
BO#H $1,200| H & 5F $10,000
EOHL $2,000| = &5F $15,000
MO¥E $1,200 k ZESFHAE S $20,000
2OE=E $1.200EE1ESF $10,000
A O $1,200( A EVA N FBEI LR SR, $500,000
HOTR $1,200| {2 i A TR/ E] $60,000
HOEE $1,000| ot G E HR 5 e $5,000
FOH $1,200| 8O e $5,000
BIO% $1,200| = Ao i [EE S $6,000
RO $1,200|75ER5F $1,000
HOZE $1,200F R $1,000
s OFE $1,200)/E B ST i L8 $3,000
=0O%+ $500[#EK5F $10,000
=0%F $1.000 AAUISF $10,000
BROH $100 |7 A A B Al B e ttd  $20,000
ZOligg $100| "L NEART T+ $2,000
BRO$ $100[UISF $20,000
BROE $1,200| FFe i fh# & $6,000
+O=E $100| 2 1ERE = $1,000
BROFT $100| ZfEhEE $99.000
A OF5 I $1,200| & F i fh#rE $10,000
F0O2 $1,200| FEFe A fhEE $6,000
HOES $1,200[BOLREE $5,000
A O $1,200 | 2 [ A 4H (Pl i) $20.000
SO $1,200| £ R SFERE—[F] $50,000
HOTT $1.200|Z B EEE $3,000
F O3 $1.200| = F AR E] $20,000
G ORk $1,200|FE R E EH $6,000
FO* $300[[EDE1#F $6,000
£O% $300| &5 A fhEE $20,000
O/ $300| &5 FE A AGE M e $5,000
TOH $300| BB ESF IR E $3,000
ZOR $300|FEESF $3,000
EXOAE $1,200 VK5 18T $10,000
sHOAE $1,200 554w L GHFETT) $7,000
TOEEHD $300| i FH 2= FATEHT $27,170
MOE D) $300|FiftHH EHEATERT $4.000
O $300|FitHH EHEATERT $54,340
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HOE $300[ & ZHE AR AHR $81,510
HO $300|RITT 75 e $8,151
EO $300| i & FE == $8,151
IRO)EES $1,200| B 5 $2,000
O $1,200 | P 85 A Hifi $2,000
BOZ $1,200 | FEHE $2,000
B OB $1,200|FEAH & $32,800
i OF5 ki $5,000 | Fe 2 2 (& 1) $10,000
RO $1,200| S $100,000
SBOE $3,000|FEFH = $2,000
O $1,200( %% H 1A $65,600
=O® $1,200 | Hr AR 52 $27,170
BOE $1,200| R — S A fEIF $27,170
RO $1,200] K & FMEA AR $54,340
501(= $1,200| B EAE $13,585
=HOZ $1,200 | BES 72 AR $2,000
A O#F $1,200| =T $1,700
FOfE $1,200 | F& 7k $50,000
BFOZ $1,200| H FERECUES RS $27,170
FOZ $1,200JHE $10,000
2O $1,200(%b.055F $8,151
#HOME $1,200| KER5E $8,151
B Ok $2,000{ = O A $660
FI[@) $1,200|21O== $1,200
PR Ok $1,200|FFO B $680
205 $300|BEO% $660
52Ok $300|ZEO%E $1,500
MO $1,200|5E Otk $100,000
BROZE $10,000(#£OH $1,200
#H O $1,200{21O81 $1,200
BOR $1,200| EFO $200
O $1,200 EO4 $200
FROEE $1,200( B Oz $1,500
Z0O#E $1,000[ Ok $1,200
RO $100[BHROA $100
FROHF $100| = O $5,000
@Y/ $2,000[ZOF $400
B OB $1.200| =0 %+ $1,000
BO% $1,000( B O#F $200
frOH $1,000{2£ Ot $200
O $1,000|FEO$8 $200
PR O $1,000|5E O $100
PROEL $1,000/ 0O $500
HOZ $1,000| T O $100
HOZE $1,000| TO= $100
FOWHE $1,000 T O $100
FOH $10,000[ T OE $100
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HO® $2,000)ZOH $100
EO% $3,000{ T O= $100
EEOfH $1.000{ T O£ $100
BIO= $5.000) T O%# $100
FOE $600| EOZ $100
O $1,000|=0O# $1,200
MRORE $1,000(7%O 75 $200
AEOH $1.000)fOF = $300
O $200|# O $100
OB $200 [ Of $1,200
TOFE $1,000[# O $200
B2 O $1,000| 5 OFE $1,200
FO¥K $1,000| EO# $200
+OF $10,000{ O $200
O $10,000| 5 O$#, $200
EOESS $1.200[z=OH $200
EOH $1,200) &= Ok $200
£O38 $1.200|1ZOH $200
HOME $1,200|# O $500
RO $1.200[750 $200
HOM $2,0003 O $100
ROF $1,200|1#k O $300
BOZE $10,000[FFOH $200
RO $100[#BOHE $200
BROFE 5 $100[E= O $1,200
FOM $500|E= O $1,200
HOT $100[2£0& $2,400
O $100/ZZOM $100
O $5,000[FEO 7 $100
HOR $1.000|FOHE $500
BROZ $500] = Of $500
s O $100[FIOf% $500
FOE $500F O $250
BROTE $1.200[f2O H-+ $250
BROBE $1,200|18O#% $1,000
TOXE $600[t5O#E $1,000
T O## $400[ZBOPE $300.000
FRORL $250[FEORF $300.000
FIOEK $200[O3L $1,200
FOH $250[ O $1,200
RO T $200[ O $1,200
PO $3.000| O $1,200
=(OLS $500[FF O $1,200
HOHE $100[EHOHS $2,000
BROFE $300[FEORH $3,000
i O $100|BAOE $1,200
BRO B $300| f e = i A TR /N E] $1,000
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BROE $500 O $500
i O $300[ & OB $100
MO $200[ O E $100
HOH $200[FRO1E $100
HOF $500[ ORI $100
HOH $100[BROF $150
BEOMH $2,000[5FOT $200
1O $200)5& O $300
HOZE= $100[ = Otfg $300
HO®% $300[FROFE $500
O $200 | F O %k $500
SOt $200|f O $100
w=OR $500[ O $1,200
FO=E $300[ 2 O $100
FOE $400[EHOH $100
RO $500)2F O % $100
POIR $100[fR Ot $100
PO $100[#E Ot $100
HOLD $1,200)E 0L $100
sHOH $500[21OA $100
sHOE $500[E= OKE $100
ORI $20,000| £ Ok $150
TOE $200[FRO%E $150
+O4 $200[BROZ $150
FEOT $600[HO=F=2 $500
HOEF $600[HEOIE $100
BROBH $100[HEOL $100
HOH $100[s0O= $100
O $100|BO%h $100
wOZ $100[ & O $100
wOfE $100[ 2 OB $100
EAO)E] $100[ 2 OF $100
s O $600[H=O%% $100
s O $600[FROF $100
RO $600[=O#h $100
s ORE $600[EB O $300
MOH $600|H O E $300
BROH $600[5T O $100
BROR $600[ETOfZ $100
PROIE $600[t5 O+ $100
RO $600[EHO $100
BRO&E $600[EAO #h $100
O $600[ 2O $500
PO $1.200 (PR Ot $200
FROR $100[ETORL $200
FOH $100[HOBK $200
=0% T $15,000|21Of% $100
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FROZR $1,200| B O $100
HOE $1,200| PO $100
s O $1. 200 O 5 $100
FO% $6,000{FE ORI $100
Z OB $600[HO%H $100
ZFOHi $600[7OZ%& $200
FOME $600[ &£ OFk $1,200
FOfE $600| PR O $1,200
FOM $600[t1 O H ## $1,200
BOE $2,000( % Ot $1,000
EOH] $1,999|BRO % $1,200
MO $1.200[FEOFZ= $1,200
FOH $200[#CO $1,200
TOF $200(Z8OF5 $100
FROET $500[FO $100
s O $200[EE O8] $1,200
s OH $200[ 7O H #k $1,200
Ok $200[EHOFH $100
BO=E $1.000|fa O $100
HOR $1,000]4af O] $100
BHOm $300[EB O $100
#HOF $30,000[FEO7H] $500
FOBE $3,000|#EO%E $100
ZO® $1,000801G $100
FOHS $1.200[BAOE $200
BOE $1,200| 20O & $100
o OFE $100[52 Ok $200
fE e ih=r $2,000[5R O F $200
ZO1= $200[EB O $500
FROZ= $500[ZFO1 $200
O $100[FO= $1,000
RO $100[br O $1,000
T O $500[5 O $500
s ORE $1,000|&F O ERFEZE $800
#rOAE $5.000[2£OF% $500
SO $200|BEO & $1,000
FOE $1,000| =05+ $100
LOBRK $1.000t50 & $84.,220
FOEE $1,000{Z1OF5 $500
BIOIE $1.200|1#E O3 $2,000
s O $1.200{¥ Oz $10,000
s O $1,000[2£O % $5,000
BRO1E $1,000|E O $200
O $500[3EOF $100
=0%F $100| EOFE $1,000
BIOF $1,200)BECOBH $500
2O $1,200[FR O $300
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=0O% T $100[#FOFEAL $50
O $2,400[ O $500
BIOF $T00[FEOE $300
TOE $1,000|1#E O $50
EO5) $300|= O $500
BROZE $100]+ORAE $115
HOHE $2,000[Z2 O $500
PROER $200[#OZ $10,000
O $3,000|21O = $1,000
HOFE $1.,500) BE O $200
HOH $1,500|EO& $200
EOfit $1,000]BEOFK $200
ROZE $500[FROZ $200
ORI $800[FR OB $200
HOE $100[EB O $200
OB $1,000|BEO%H $200
FHOZE $100[EROf& $200
H O $100[BROF $200
HOBABIZR $100[FRO2 $200
thOZ $1.000(FROE $200
HOE $100|fR Ot $200
[ @5y $100[BROLY $200
EHOH $100|HROEAE $200
BOfS $100[BROFE $200
HOZE $100[FOEL $200
BO $100[ZFOE. $200
FEOBEMZ $100[ PO $200
EOF $100|2£O% $200
BROZE $100[#FOF $200
T O $100[#E Ot $200
FRORL $100[#FO17 $200
ZOEE $100[f17O H $200
HOzE $100[FFOfE $200
s OflIfE $100[#O1a $200
TOJt $100[22O= $200
FOHE $100[#HO%E $200
TOHD $100|ZE2 O $200
FOE $100[ZEO: $200
HOX $100[3O4= $200
EOEL $100[FOZK $200
BIOE $300| O $200
OB $300[E O $200
BIOKE $300[EEOZEE $200
BRO% $300[EEOE $200
BIOH $300[EEOFZ $200
BROE $300|22 OB $100
PROZ $300[Z£O $100
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TOHZE $100[t O $100
s Ok $1,000|1# O $100
SROA $100,000(#5OF $100
EOPE $100[# O $100
O $500[tH O $100
EAOLEES $100[#OH $100
ZOR $100[t5OFH $100
PROIE $1005& O $100
i OF0 $100|2O%E $200
BROE $150[BROE $200
£01 $300|2OF $200
§TOTF $200[BROSL $200
BROBT $300F Ok $200
RO $300|f OF5 $200
ROBE $400[HO%% $200
SOt $300[FR OfZ $200
RO $1.000|2£ OB $200
w0 $6.000[2£O%= $200
RO $500[EEOH $200
RO $500[FEOfE $200
BROZR $100[FOE $200
g O $100[7RO*= $600
O $100[Ek O ¥ $200
BHOZAE $600[5=OZ $300
PrOZK $1.200| %O $500
MO $100|E=OJH $6,000
w3 $100[52 O $6.000
BIOH $100| A BEVE \AC32 $900,000
s O $100| ZeoEaR e A IR $1,000
FOE $1,200{£5OFE $200
BROF $200|%= O+ $500
PRO=E $200[=0O Bk $6,000
EOWM $200[EE O $10,000
EBOTE $200[BIOF $1,000
EOTE $200| =0+ $500
EOMRE $200| P OFH i $1,200
BROH $300[f O’ $300
BRORL $300[5= O $1,000
FOHL $150) 8 OFk $1,500
BROZE $150|EROZE $1,000
BROZ $150[ EOH5 $500
BROFH $300|EEO Ity $6.000
BROE $300[Ek O1E $5.000
FOH $300[EBOR $100
BOB $300[EFOf& $100
AEOFEH $500|HFOZE $100
i OTE $100[EO $100
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fitt O=L $100[EF O $100
LO= $100|22 O $100
O $100ta O $100
g O $100[#HOZ $1,000
O $100|E= O $400
2OZ $100[#O 5 $2,000
FOZH $100[FROF* $200
RO $100|2 O $1,000
=08 $100|5ECOH $1,000
SO $300[FO7z $3,000
HOEE $300[EFO# $2,000
s Offi $100[)ZO%z $1,000
sTOf2 $100[ZF O $600
BOT $100[ =0+ $1,200
EHOH $100[BBOEE $3.000
BHO#E $100[#5O % $200
RO $500[ = O= $200
HOEAE $300[BROZK $200
BRO#E $200] =2 OFAL $200
ROZE $1,000[#O% $200
ETORk $200[#OF= $200
PMOZR $200[FHO=E $200
2O $100[FHOBE $200
BROZ $100[t5 O $200
MO $100[#AO e $200
AHEOE $100[FH O $200
FEORM $100[#FHOth $200
AEOH $100[FHOFE $200
BOH $200|# O T $200
BROH $100[#FH O $200
ZOligg $100| = O% $200
BRO$ $100|f OFF $200
HOZE $1,200| = OFF $200
MHO=EE $1,200| = O $200
PO $1,200| &= OJF $200
PO $1,200{21OF $200
ZOR $1.200{ &= OfF $200
FOEL $300[/RO1E $200
FOR $300|E=OhkL $200
PO $300[= Ol $200
O] $300[t5OF $200
OB $300[FROLEH $500
PO $300[EOE $1,000
PHOLT $300[FOF $600
FOH $300[HO 7 $300
MOE $300[%0O $2,000
HO1E $300[ZFOHE $1,200
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ZOE $300[FEOHH $1,200
MO $300[)Z O $500
£0% $300[{TOHE $1,200
£0OWE $300[4CO%E $1,200
#HO4E $300|E=O8) $1,200
#OZK $300|E=O%E $1,200
RO $300[=OJE $1,200
BEOE $300|£OH $1,200
O L $300[E= O $1,200
I OFS $300|E=OF $1,200
BHORZ $300[=OEH# $1,200
2208 $300[=OF $1,200
BHOH $300|PRO=E $1,200
BHOE $300[= O $1,200
BOHE $300[)TO%k $1,200
BOH $300[ = ORF $1,200
BO# $300[=0O& $1,200
O i $300[##OE $1,200
BROSL $300[ZO $1,200
BROHL $300[EROFE $1,200
BROFT $3.333| RO $1,000
BROFT $300[BROHK $300
ROZR $200[/FEOHE $1,000
BROBE $200/f OF= $500
TO=E $100| EO=E $200
BROFT $100f OF5 $200
BEORF 1 $200|f OFx $200
ROz $200[3O% $300
O $200|FOE $515
BROEE $200[FI O $500
PROJE $300]H O $200
g O $1,000| 5= OB E) $100,000
ZOBE $3,333|&£ O $10,000
£Z0O= $300[ZEOFE $10,000
Z0= $3.334 R8Ok $10,000
EBOZ $200|28 O == $10,000
PRO= $200[FE O $2,000
RO $200 | & HE 1L $10,000
EHOM $400 | fs O $3,000
FEOM $100[ =0+ $1,800
BROAL $300[ER O $2,000
TORLED $200| 21O $100
wHOFE $500[H#EO 4 $100
FEOfE $300[3EO2 $100
FOi $300 (38 OFx $100
FROE $200RO/K $3,000
BOHi $300[FROZ $10,000
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#HOF5 $100 A PR/ ] $12,000
O SI00[EEELLI JFHESF $10,000
sHOF $100[#H OFEHD $2,000
O3 $100[FEOZ& $1.000
{afOle] $100[= Oz $200
=OE $200|fAI O & $1,000
FIORL $200[7ROF $2,400
= O4 $200[BR Ot $200
HOE $100[BROH $100
g Ok $200|OH $100
] Ok $200[= Ol $100
O $500[z= O $100
MO $100|E= O $100
OB $100[= Ot $100
EOH $200|=OJF $100
BEOZ $200| 5= O $100
i OFE $200[ 5= O $100
fit O $200[=O $100
RO $250[m= O% $100
MHOE $250[FN O $100
OB $2,000)f O $100
w=OH $2,000) 5 OF] $100
B O $2,000)E=Off $100
A $700[=O1E $100
BROFE $10,000| B O $400
ZOF $1,000|6BCO $400
F O $100[/FOHk $400
O $1,200|6BOFE $400
MHOF $1.200[EFO % $400
ROBEE $1,000) B O4= $400
O $5,000[5& OB $400
SO $500[= O $100
LOSTE $10,000|z= O $100
JLOMHE $5,000| PR O#E $500
RO $400| O $100
BROHE $300| EO=E $100
BOR $200[=O B $100
TOEE $2,000|m O+ $100
1 OBl $20,000[= O H4F: $100
s T O $1,200) &£ O $12,000
210 $1,200| EO#= $900
BO $1,000) B O % $100
BOE $12,000)f O % $100
£0% $400[= O $400
O $300[ EOE $100
BO#H $300| EO4 $100
BO#H $300] B O 7K $10,000
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22O $300[FROE $220
HO $400|FEO$¢ $100
RO $400[FHO#% $100
RO $200[&k OB $2,000
ZEO% $200[5EO&! $1,700
ZEORE $200[#£O $500
FOZE $200[#£O $500
FEOH $200 (B O $100
BEOIE $200 (B O $100
A O] $200[EEO =8 $1,200
mOE $200[FRO == $500
BOZE $200|8OE $100
Z0= $200[ EOH $900
2= OFAWD $100[HOR% $400
ZOH $1,250|#50O % $2,400
BROEK $1,250;TO#B $200
20 $1,250 TOEEA $200
2EOE $1,250|FF O % $100
O $250| 21Ok $200
=OHE $200[FH O™ $100
BROS $200|85O 75 $100
B OEED $250| 21Ok $2,000
= O $1,200[ RO $5,000
EHOEM $1,200[ZOf $500
O $200[F= O $100
BROYE $1,200[FEOF* $100
tHO#E $1,200[FEOF $100
2O $1,200(ZIO4H $6,200
=OHH $1,200{ 2O $2,400
ZIOZ $1,200] % Off $6,700
HEOE& $1,200[50O%7 $100
RO $1,200[5O%7 $100
O $1,200[FEO $100
= Ok $1,200[FEO $100
BROME $1,200|FEO R $100
BROE $1,200|FEO R $100
B Ok $1,200| F O $100
fFORE $1,200| F O $100
HO% $200[FHOJEE $100
BRO% $1,200|FEOfE $100
#0%k $1,200[FEO $100
Z0% $1,200{BE O $100
HOH $1,200[5F Ok $100
sROHH $1,200|5FOi% $100
21O $200[BFEO $100
HOE $1,200[FEO# $100
2Ot $200|5F O $100
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+O& $1.000[FFOE $100
w=OR $100[EFO f, $100
HROsE $400[EF O f $100
=0% T $200[5TO=E $100
O $1.900|5FO%E $100
mO= $200| RO $22,000
PROZK $200|HOF $1,000
= OFERL $200[ EO& $100
MHO% $200| O $100
O $200[=O#h $100
PROE $200|E=OH $100
= OFF $200 5= Ok $100
O $200 [ OEARIZ $100
E QR $200| EO= $315
BIOF $200[## O $100
= Off $200|1 21O $100
AROTE $200[i=m O $100
AROTE $750[EOfS $300
s OBk $200| EOEER $100
s OF $200[ EO $100
BOE $200f OF= $100
ROk $300[EOZL $100
#®OT7 $500[EF O H $100
FECLESF $1,000)8£O8 $100
A ORL $100|Z2OREE $100
HOR $100[HEOz= $100
w05 $100[E= OALIHE $100
w=OH $100[#F O $1,200
ROHF $100| EOTT $100
21040 $400[ EOHEL $100
HOE $400| EOHAD $100
i O $1,000{ FO& $100
0O $100[5O3L $100
0O $100[;EOJE $100
O $100[ 2O $600
+O= $100[Z£O1= $2,000
BIOH $100[;LO% $200
205 $100[TOfZ $200
BIOH $100)TOE $200
BIOTLEE $100[# O $400
BIO $100[# O®F $400
O $100[HO* $400
Oz $100[E=OIE $400
FEOFx $100[E=OFH $400
B0 $100[E=O =, $400
AEOH $600[E=ORE $400
SO $300[ = O $400
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KO $400))TO== $400
EOE $1.200[FHOF'F $400
EROZE $100[= Ol $400
RO $100[ = O%# $300
RO $100[= O $400
LOEE $5.000[=OF $400
BRO#H $5.000| 5 O $400
#FO¥ $700[5O= $100
=50 $1,000) 7O $100
PRO= $1.000[5FRO% $100
HOFET $30,000|5=0O2 $100
HOE $20,000[; TO%x $200
HOMR $100[;ZOM $200
#Ola $100[ERO I $200
O $100)’TO%x $200
2O $100| EOH=E $100
O $100[% O $300
£Z0OH $100 i OF $600
=0% T $100[#F Ok $100
FOF $100| EO*= $100
LOHE $100|E=0OF $100
JLOER $100[=OE $100
MHOHE $10,000|1#5O%E $100
LO& $100|21O = $100
LO $100|21O = $200
TOE $100[t5OR% $100
LO%E $100[ZF=O%k $100
LOW $100|5 O $100
tHROE $100 [ OF $250
LOE $100[fAIORE $250
PO $2,000| = O $1,000
=0% T $500[TO# $100
tROH $1,000| £OEE $100
sTORE $100[2=OH $100
g OfK $2,000[BHO1E $300
BROHL $2,000|#OH% $1,200
sOREE $3.000[FEO% $1,000
FOF $10,000{ = O $1,200
g O $1,200{7kO $1,000
BROH $3,000{FROZE $2,000
w= Ol $400[ 2O $1,000
g OIE $500[BIOE $500
ROt $10,000|5£O % $400
RO $1,000|5EOE $400
20=HE $50,000|5£O1= $400
BIOFE $50,000) 5= O$# $400
POH $1,000]F OFE $500
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EOH: $100[BEO $500
BOR $200EIEFE S AT $500
s O $1,200 75§ { SR A TR/ ] $1,000
OB $1.200{EO5E $330
= OfA $2.400[E O H $100
O $200|TROBEE R $300
A OFE $200[F1O%h $27,000
HOPE $200|210O%b $120,000
BOE $200| = OREE $1,200
PO $400|FO% $5.000
H O $400[=OF $1,000
A Ot $400[ O $1,200
HOFz $400[# O $1,200
O ST $400[BRO 2. $1,200
O $400[FROEE $600
=0/ $200[2£0 $600
O $200[EEOF $500,000
[ O4 $70|HOBH $2,000
HOHE $10,000|1#5 O $400
O $70fi OF5 $1,200
PO $70[FEOH7 $1,000
LO%R $200[FEO H#D $1.000
B EEAIRAE] $700] &= OHRB $50,000
BROE $1.200{=OH. $1,000
ErOEL $300[#mORE $1,000
£0# $200[ kO $400
BIOZR $200| =05+ $100
BrO $6,000[FEOHF $1,000
O $6,000({FIOE $1,000
BROE $1,300[5R O $400
sHOFHE $1.300[2£O#F% $400
HHOE $1,100|122O8E $400
FORM $100|FF O $400
tH Ot $1,200)# OF& $400
O $500[EEO%% $400
LO&E $1,000|F O FEA] $400
RO $100 i O $400
BROFE 5 $100[#0OF= $400
RO $100|Z0O= $400
HOH $100[E= OFEH $1,200
EHOM $100[t5OFE $1,200
=OZE $100|FEOH $1,000
s OfE $100[FEOfZ $1,000
EAOE] $100[#EOF5tis $5,000
=OJR $100|E=O= $1,200
w=OME $100[BRO &L $1,200
O} $100[#OF $1,200
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O $100[ZFOE. $3,600
s O% $100[fR O $1,200
BIOFHe $100[FEEORK $100
PROZE $100)14:-0O $100,000
s O $100 (38 O%k $3.500
w06 $100[#5 O $6.000
=01 $100[ZEOTE $600
=OR $100[2£O%k $600
HOE $1,200{E OtF $10,000
MO $1,000{F# O#1 $10,000
EEORBED) $1,200|1210O8H $400
HOHL $1,200[5R O F% $300
HOFEE $1,200[5O A1 $300
FROZ= $1,200|= O%, $300
FROZ $1,200[5R O%H $100
=OH $1,200| O $100
RO $1,200)¥OBH $10,000
RO $1.200{ 4O $500
Jifi O AL $1,200)B O 7% $1,000
fifi OF5 ({0 $1,200{kO3H $1,000
PRORL $1,000|E= O3 $500
HOE $1,200{ O $2,000
HOF $6,000[FFOFE $20,000
=0 $750[ETO= $5.000
MmO $750[OTE $4.400
FOmER $2,000) Ok $1,200
EEOZFAL $1,200etESF $300,000
BHOE $1.200| = F AR $36,000
F O $1,000{£5OFE $200
HOE $1.200[FRO 5% $100
O $200[=OF $5,000
HOF $200| =05+ $100
BO# $200[7RO1a $100
O $200[FR O $500
O $5,000[#OF $800
BO=E $1,200|F O $500
g OBk $1,000| T OZ% $100
sTO4 $1,200| T Oz $100
FOFAL $1,100| T O#F $100
EOH $100| TOE $100
BEOZ $100[EO1H $100
fitt OfE $100[ T O= $100
fit O $100[ T O $100
=OM $10,000] T O#f $100
OO $5,000{ =02 $100
+OH% $5.000)12205 $200
ZFOgitE $5,000[# O $200
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O $1.000{5O%F $3,000
FOW $1.200[z=0O% $200
RS $4,310)7% O T e $200
EOM $500[z= 0O $500
=OT $500[ROF53E $300
PO $500|# OFE $100
PO $3.,000) &5 O%tE $500
=(OLS $500[#FOF= $200
HOH $100[EOH $200
BIOE $300[EOL $100
OB $300[EO fr $100
BIOKE $300| EO $500
BRO% $300[=OE $500
BIOHE $300[ 5O $200
BROE $300[HEOE $100
BROZE $300[#HOF $300
A O $10,000[FFO#H $200
RO $3,000|F Ol $200
FOH $6.000) & Ot $200
O $6.000| = Of# $500
FOR $15,000|21Of% $500
FOE $15,000|12FOf= $200
HOT $100[FO $150,000
O $100[#EO A%k $2,000
O $500[FrO% $1,000
F Ot $300[3EO= $100
—0O% T $100[#5OEE $1,200
MHO& $600|Fx O $300
BROZ $500[tZOIH $500
s O $100[#OF $1,000
£Z05%8 $200[BIOF $1,000
POHE $200[#F OBk $1,000
HOE $3,500{FE Ot $1,000
O $100[ZF O $300
£ZOE $100[ =0+ $2,000
O $200| 21O 2Tk $1,000
O $100[FIOfF= $1,000
PROAL $600|ZIOJF $1,000
O $100[FOE $1,000
FROH $1,000|8OZ $1,000
BRO B $300[BIOF $1,000
BOIR $500[ EOE $1,000
RO $1,000)EO’& $300
FEOR $300| EOFH $100
TOH $200| 5= O $3,600
T O $500[FRO % $3,600
BIOH $100[ERORBE $10,000
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w=OR $500[FOE $1,000
| OF! $125|8O% $5,000
BIOH $125[FROME $1,000
BIOTLEE $125[FO#8 $2,000
B0 $125|B1O%E $800
O $100[ExOF $10,000
O $100[Z O $1,200
O $100|% O $1,200
O $5.000) B O $2,000
FOBE $500[2£OF0 $300
TOXR $600[FO= $1,000
T O## $400|122OF $500
FROR $250[# O $500
FOH $250[FH OB, $1,200
EOEFHe $200|tROZ= $1,000
EEOM $100[EOE $1,000
HOHE $100[FOE $1,200
BROFE $300[EHO 7 $300
HOWEIE $100[FEEO1E $10,000
i O $500[#FO= $2,000
MO $200[ROH $1,200
HOH $200[ O $1,200
70 $200[EO $20,000
HOE $100|HOL= $5,000
MO $300[)TO= $5.000
O $200[Ex O EERIZ $800
SO $200[#£O $1,000
TORE $300)ZO%z $1,000
FORMH $800| A OEAER) $100
BROTE $1,000|ELOH $100
TO¥NH $500[FOta $100
O $1,000|EFO%E $100
=0% T $500[E O $100
O $500[EFO5 $100
ROk $300|2£ O $100
HEO=E $5,000|BEOFE $1,200
HOT $1.200[FROfE $100,000
ROM $1,200[ 1 O $100
=HO®E $1,000BECOBH $100
ROZ $1,000520O=H $100
PROZE $100[= Ol $100
PROZE $100[m= O $100
ROME $1,200|=OFE $100
PROF A $1.200[z= Ol $100
w=OfE $5.000|HOFT $100
RO $1,200{Z£Of $1,250
ROME $1,200] B OFK $1,250
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RO $1,200{Z£OfZ $1,250
PO $1,000[Z2O%E $1,250
RO $100| =0+ $500
BRO$ $100|2 O $1,000
POHENT $100,000{FR O3k $500
HOXESE $6.000FEO $300
RO $1.000|=O%E $300
BROE: $100| RO $215
BROE: $100[FIOF $500
BEOH $1,200|18O%E $100
BOE $200[t5 OB $100
BORE $200[ZF=O%k $100
BO= $200| 5 Oz $100
s OMED $500p T $100
AEO58 $1,200[IOFE $500
LOHg $1.200|1#O%4 $1,000
O $1,200|FO1& $200
O $1.200[ZFOF $200
=0%F $1.000{5OXK $30,000
PRORE $5.000FEOF $200
RO $500[FEOZ $200
MHOE $500[FE O $200
MHOHE $500[FEOz= $200
HEOEH $50,000[ZFO= $100
BOE $2,000{¥OFE $100
BROF $100[#AOH $2,000
BROF $100[FBOLa $500
BHO $1,200 75 $2 A SR A TR/ ] $1,000
B OFEHD $1.000[EEHH & $20,000
O $100[OE $100
O $100[ZBOHE $100
PROEE $100[#H O $100
PRO®E: $100) = O $3,000
BROBE $100[BIOEARIZ $100
BROBE $100[##O%E $100
TOH $100|12IO5 $100
T O $100[i=m O $100
BROkE $100)ZO1E $300
BROkE $100| EOEER $100
RO $100[EO# $100
RO $100[fROF= $100
s O $100[EOZL $100
s O $100[Er OB $100
BRO $100|Z2OREE $100
BROZ $100[HEOz= $100
ErOHE $100[E= OALIHE $100
sTOE $100| EOIT $100
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O $100| EO A AL $100
O $100[EOAD $100
BFOFE $100[ EOE $100
BFOFE $100{ 5O $100
BOMH $500[;& OJEL $100
BOMH $500| FEO A #E $100
O $500| = O $100
BOMH $500[EO $1,200
BROE] $700[t5ORE $1,200
HOR $1,000] H O $200
RO $100[FRO=E $500
[ROHF $100[BIOFF $600
BO% $300[FROFELL $50
= OB $500[ OB $50
EEO $1,200|3 O $1,000
=08 $300 [P O $200
RO% $2,000|+OF 4 $115
HOE $2,000{ = O: $200
HOE $1,000{EO 2 $1,200
sEOIR $1,200{EO % $1,200
EZEE $4,000{EOZ= $1,200
Z0HE $1,000{EOZE $1,200
FOtE $200[15 O $1,200
HOK; $200[15 O $1,200
2505 $500[t5OM $1,200
HOZREF $1,020(#50OE $1,200
BOE $22,000| & O% $1,200
BOE $100[ % OFE $1,200
;OB $1,000/ 5O $100
(@5 $600[% OF $1,200
FHOZE $100[% O1E $1,200
O™ $100[% O $1,200
HEORE $1,000[ O'& $1,200
ZOH $1,250| & Ot $1,200
BROEK $1,250|EFOHE $1,200
20 $1,250{&= O $1,200
20% $1,250({EFOE $1,200
2 O, $50| &= OfH $100
B O% $50| O $100
2O%& $1,000/ £O $100
wMOE $50| EOFE $100
e OEER $50| EOFE $100
=% $500|EO& $100
O $50|=0 HAE $100
O $200|EROE $1,200
=005 $200[HO%: $500
=OE $200 %8 OHA L $100
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FOF $200[ O E $100
+O $100|BEOIE $100
+O= $100(Ji OF $100
HORAREIZR $100| EOFE=E $400
RO $1,000{ O $200
HO4E $100[BROF $150
@5y $100[5TOF $200
EHOM $100[7RO¥ $300
BOfS $100[#EOFE $400
HOZE $100[5OEH $400
BO $100[ = Offg $300
FEOBEMZK $400[FROFE $500
EOF $100F O %k $500
FROZ= $100fH O $100
O $1007EOTH $1,000
FRORL $100[ O $100
ZOEE $100[EHOFT $100
HOz= $100|ZF Ot F= $100
s OflIfE $100[fR Ot $100
TO7C $100[#E Ot $100
FOHE $100[E=OL $100
TOHD $100[B1OA $100
FOF $100|E=ORE $100
HOX $100| O $150
HEOE $100[FRO%E $150
HO®E $2,000)BE O $150
LO5h $2,000);EOF52 $500
ROBEE $1,000) i O $100
TOHZE $100[HEOL $100
BO¥ $2,000)4&2 O $100
R $10,000|68CO &) $100
ZO1 $200[ & O $100
BO $1,000) % O $100
PMOTR $3,000|8 O $100
205 $400[H=O%% $100
A O T $1.000)B OF& $100
#®OT7 $500[=O# $100
HOFE $1,200|ZF O $300
BROZR $6.000|EFO % $300
OGRS $1,000[5F O $100
£0O% $1.200[FFOfE $100
ZOER $1.200|80OF $100
EZO)l] $1,200|EHO%E $100
SEOmEL $1.200[EHO#4 $100
ORI $1,900| 5% O $500
#HO== $600|BEOF5 $1,200
#HOT $1,500[BRO & $200
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BO= $1.000[FFORK $200
TOEE $2,000{ ROk $200
FO $1,000|121O% $100
BROE $100[BROZ $100
HO{ $5.000) PO $100
LOZE $5.000 O & $100
RO $1,000)FEO*I $100
BROHT $100[HO% $100
ZOligg $100|# O Js 3t $1,200
BRO$ $100|122O= $300
PROFE $1,000{52OHE $300
TOE $100[5OZ%& $200
BROFT $100[7RO¥ $1,000
HOHE $100| % Ot $1,000
PROT $200|F Ok i $1,200
HO $50,000| FOFE $200
BO $1.000{£8OFF $100
FORM $100)1FO $100
BROZR $100[EAOFH $100
RO¥ $1.000|f O $100
HOMR $100[{TOlH] $100
#Ola $100[ER O $100
O $100[F= O] $500
2O $100[#OE $100
O $100[/FO1a $100
£ZOH $100|1BHEOE $200
FOH $100|5=OE $100
BOZE $2,000) 52 O$#, $200
TOE $900[EHO%E $100
2IO& $900| EOE $10,000
EOMT $900[Ex O S $1,000
EOF $900[ MO $2,000
w= O $900[BROF* $200
TO& $900[BEOH $500
TOFl $900[=OF $1,000
BOLE $900| E O $1,000
TOBk $900] H OB H $2,000
HOK $900|BL O$2 Tk $5.000
#HOH $900[#ORE $2,000
TOC $1,200{ £ OF $500
TO& $1.200|18O % $300
T O $900[t5OFH $300
AHEOE $500[t5OFH $300
AEOZE $1,000{2£O %k $300
EAOLEES $100|ZFOE $1,200
HOR $100[ O $2,000
PROIE $100| RO $2,500
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i OF $100)7 L OXE $18,000
TOZEZE $400[5=OF $1,000
O3 $200|5EOH $1,000
PROE $150|5E O $1,000
FOFE $1,000[AEOZ= $2,015
iTOTF $200[=O®F $1,500
FOZE $2,000] T O $1,500
RO $300[2£OHH $600
SOt $300[2£O1E: $600
RO $500[=OF% $600
BROME $500[2£OF $600
BROZR $100|122O1E $600
GO $100[ O $600
sHOH $100[{TO $1,200
F O $100[ETOF $600
BROSE $100[ETOW $600
POt $100[5TOR] $600
E=OX $1001HOE $600
BIOH $100[FFOMR $600
s O $100[ 2 O $600
TOHk $150[= O $1,200
PROZE $150[ 2O $1,200
BROZZ $150[FRO I $600
BROH $1.000[/HOZFE $600
AEOFEH $500 s O $600
i OTE $100[#F Ok $100
fitt O=L $100| EO*= $100
LO= $100|5=OMH $100
O $100[HOFE $100
g O $100|=OF $1,000
O $100[# b HEESF $100,000
qOE $100[¥ECO%& $1,000
FOZ $100[FOHK $1,200
FRO®E $100[ETO*E $1,200
e O $100[50O $10,000
SO $300[/OF7 $1,200
HOEE $300[ZFO40 $500
sTOfif $100|E=OJH $4,000
sTOfE $100[52 O $4.,000
BOT $100|1ZFO1& $1,000
EHOH $100|f Of $200
sHO# $100[2Z= Ok $200
RO $500[FRO#t $200
BRO#E $200[FE O $200
RO%E $1.000[EO= $100
RO $1,000[FROF5 $100
sTORK $200[2O%x $200
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PMOTR $200[ & OIEl $200
2IO& $100|f OFx $100
BROZZ $100[=OE $500
PO $100[FNO s $100
AHOE $100[21O $100
FEORM $100[7ROZ $1,000
A O $100]H O $100
HOME $500[FOZ $200
w=OR $100[#FO= $1,200
wOME $100[EROF0 $1,200
s O} $100| B O I $2,000
O $100[br O $1,000
s O $100[BBORK $1,200
RO $100|FHOFx $1,200
FROZ= $100[7RO¥ $600
s O $100F O $300
w06 $100[#FOFE $800
=018 $100[#E O $300
FOH $200[#FOFE $300
ROZR $200[H O $300
PO $2,000{ O $500
g O $1,000| EO%] $500
FOM $2,000{EOH $100
RO $50[E= O $500
ROZ $50[#R O $1,200
FHOF $100|ZOER $2,400
O $100|E= O $1,200
FO¥E $2,000[= O $1,200
sT O $100[f2OZ 5k $1,200
RO $1,0003OH $1,000
sHOF $100|F OFx $1,200
O $100[FRO#h $1,200
A O[] $100[f2OK $1,300
HOzEE $100[#FOEE $600
O $500[FO= $100
MO $100[5ROZ $300
HOE $100[BRO ) $300
=OR $100[ZFO1 $200
BHOE $200[E O $1,200
HORE $500[HO% $6,000
LOHE $100[HEOHK $160,000
JLOER $100[fROF5 $400
LO% $100[BR O $400
LO $100[7EO $400
TOE $100[7EOT $400
LO%E $100[{E=OFE $400
S LOW $100|1MEOEAE $200
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HOE $100(PE OFF $200
LO%% $100[5EOZ $500
ZF0O1E $1,000|FEO*E $1,000
FOfE $200| =0T $100
EROJEH $300[;BOH $400
ZIO¥ $200[Z=OEY $200
KOEF $200|ZOEL $200
KORE $200[ PR O $200
P OBR $500{Z£O%H $200
FOME $1,000|#ROEf $200
RO $500 ROt $200
ZO¥H $500[#KO17 $200
MO $500[f1O H $200
P O% $10,000[FROfE $200
O $3,000[#£O1& $200
KO $500[Z20O= $200
MO $500[FRO%E $200
HOE $500[Z2O4 $200
PO $500|Z£OFEE $200
ZIOF $400[E O£ $200
20O $400[FOZK $200
ZIOF $400| O $200
HOR $300[EEO $200
PO $50,000|82OZFE £ $200
SOl $300[BEOZE $200
(@) $300{BEOHZ $200
O $300(ZXOF4 $200
ZIOkE $300[#5OHH $200
PR OFat $300(#5O % $200
ZIOE $300|RO=E $200
P O $300( PR O3 $200
PROZ $300|=OF $200
Peii O e $200(fEO=C $100
TR ERIRAE] $1,000|FEO#k $100
Mai Ly $64 (RO TS $200
OS5 $100[#R O $200
=OR $5,000(BFE OBk $400
Z20OE $500|=OF $100
TO%E $100[Z£OF% $200
TOE $100[Z5O= $200
TO#E $100[FHO== $100
TO%E $100{EEOHH $200
BEOH $100[ 2O $100
TO= $100| EO&E $1,000
TORE $100[#R O $48,000
TO# $100[FEEOE $100
OB $100|ZFOE $100
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FRORL $250[fR O $400
O $200[=OH & $100
T O $250[m= O%E $100
O $200|E= O T $100
HOHE $100/=OR] $100
BROFE $300[m=O%E $400
HOWEIE $100[t Opk $400
i O $500[E= O $400
MO $200[5R O H $3,000
HOH $200 &k O ¥ $200
TOH $200[BR O $100
70 $200|E= Ok $100
HOE $100[HOA%E $300
O $300[ RO %l $100
HOH $200[ 2 Ok $400
SO $200[fA] O%k $400
F O $1.000|HOE $1,000
EOM $500f O $400
HOT $100[BEO % $300
O $100[EEOHE $100
BROZ $500 &k O $6,000
s O $100[ & O $300
(OLs $500[ &£ OJH $2,000
HO# $10,0003HOF $1,000
OB $3,000[#OHE) $100
#OH $100|PEOBH $10,000
O $1.000{ZIOF $10,000
=% $1.200{5:OH $20,000
O $500[HOE $10,000
05 $100|HEOA $100,000
Z Ot $1.000[22OF $500
=0% T $100[#£O $500
2IOF $500[ EOFHs $500
=OZ= $1,000[2£Of# $1,250
O $41|FROTK $1,250
4 O, $412£0OE $1,250
gO& $4112 0= $1,250
O $100[m= O $200
2OZ $41 [ ORE $300
g OHEED $45[52 O3 $300
g O $41|{HO= $300
TOE $1,000{H O $300
BRO B $300| EOE $330
BROE $500[3O% $300
H#HO $1,200|5TFOF2 $2,000
TOE $515[FO1E $1,200
BIOE $200 | A A= )i 25 [ $1,000
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BROIE $300[5O= $400.,000
O $200[=OF $5,000
RO $200[7RO1a $100
BROF $1,000|=0OFE£ $1,200
EOW% $1,200|F O $500
O $10,000| T OZ% $600
BROHT $100[ T Ot $400
ZOligg $300[fROF53E $300
BRO$ $100|# OFEE $100
TOE $100[FH O $500
BROFT $100[#FOF= $200
FOE $1.000{EOH $200
BROHE $300[HEOF $100
TOE $100[# O $300
TO%& $100[#B O $200
FO% $1.200|#8OLtE $200
BROE $100[EEOZ $100
PROZE $200| = O $500
w=OK $1,000|121Ot% $500
ROZE $500[ RO &L $100
FORMH $800) f e = s A TR /N E] $1,000
BROTE $1.000[FROFE $1,000
O $500[FO= $1,000
FROH $100[FHOF $100
HOH $100[E= O $100
EHOM $100[Er O EERIZ $800
wOZ $100[#FOFh $3,200
s OfE $100| 2O $300
= Ot $100[FRO== $500
HOE $1,000[5F O $500
HOE $100[#FF O $2,000
HOE $200[HOZ $1,000
BRO#E $500[= O $100
FROIL $2,000{ 7O $500
£ZO%E $100|E O $600
£ZO%E $900| =0+ $500
OB $100pTO% $1,000
TOF $100|2 O $1,000
s O $200[EOR $500
s OH $200[#FOFEAL $50
Ok $200| EOH $600
O $500|#O== $600
TESF $160,000);HO S Ek $500
B $5.000|1#k O $50
EN G $5.000[F=OF $1,200
AHEOE $500[5OREEZK $300
HEOFE $1.000[ZF O $2,000
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EAOLEES $100[ T OtH $600
ZOR $100[FRO e $200
PROIE $100| 52 OsEx $200
fite OF $100[E O $100
PROE $150| = O $100,000
iTOTF $200|f OF5 $1.000
RO $300[ZFOFE $1,000
ROSHE $400|5= OFE #HD $10,000
SOt $300[BROH $100
RO $1,00050O=H $100
RO $500[F= Ol $100
BROME $500[z= O $100
BROZE $100|E= O $100
g O $100[= Ot $100
sHOH $100[#5O % $200
FO%FE $100[=O= $200
PROSE $100[BROZK $200
POt $100] = OFf% $200
HOX $100[#O %) $200
BIOH $100[#OF= $200
s O $100[FHO=E $200
TOHk $150[FHOBE $200
BROZE $150[t5 O $200
BROZ $150| = O%% $200
AEOFEH $500FE O $200
i OTE $100|f OFF $200
fitt O=L $100[ = OFF $200
LO= $100[ = O $200
O $100| = O $200
g O $100[B1OF $200
g O/ $100[ &= Offf $200
2O= $100[/RO1E $200
FOZ $100|E=ORK $200
BRO®& $100[= ORI $200
e O $100[#5O%E $200
SO $300[HO= $5.000
HOEE $300[FROHE $500
s Offi $100[tOFK $10,000
sTOfE $100[t5O% $10,000
BOT $100|BF O $10,000
EHOH $100[BBO $10,000
EHOF $100[F Ok $10,000
RO $500|FEEO& $1,200
BRO#E $200 BB O $1.000
FTORBk $200[/HOAE $2,015
PMOTR $200[FEE O $1,200
210t $100|F O $1,000
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BROZZ $100[f OF5 & $500
PO $100|FPORH, $1,000
£0% $500[FH OB $1,000
AHOE $100[57R Ok $1,000
FEOM $100|ZOF $1,000
A O $100[5TORd $1,200
RO $1,000) O $600
BROZ $500[t OF $500
£ Ok $1,200)| O $500
ROZR $200[ BB Ol $600
TO¥MH $500(2= g $600
g Ot $1.000[E O $500
#HOF5 $100[ZBORE $200
O $100| EFOFEE $1,200
#HO $10,000|= Ol $1,200
HOF $1.200({FFOR $200
HORE $200|EO%x $1,000
=OX $200|HO&E $2,500
HO=E $200| =0+ $10,000
BOZE $200| PO <z H $500
sHOF $100[£8OF $200
O $100[= O] $400
fafOle] $100[21OF5 $500
EHOK $100[F Otk $200
HOzE $100[5OEH $300
O $500] s Ol $300
MO $100[FO= $600
ROk $300/2£0 $600
HOE $100/2 O $600
BOXE $200(2=O% $600
ROBEE $500[HEOHT $600
BHOF % $7.500[ZEO= $600
=0% T $500[==0O1% $600
BROF5 5 $500[HEO#= $600
EHOK $7.500)1Z OF% $600
FROET $500[HEO=E $600
FEOR $300[HEO $600
HOR $1,000{#5OEE $600
BHO® $300[ O $500
JEEEAA $1,200)|BEO=E $500
HOE $100[Z O] $500
FHOZE $100|HO= $1,000
H O $100[E Ot $1,000
HOBAREIZR $100[OHET= $400
O $100[EHOH $400
[ @5y $100[EBOFE $500
EHOM $100[f O $500
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BEOE $100|EF Ot $500
HOEE $100|EF O $500
BEO%E $100[FFOE $1,200
FOERBZ $100(21OE $600
FO34 $100|ZIOE = $600
RO $100[{EPO5E $600
FO $100)5R O $100
RO/ $100[5EO H+ $100
ZOEE $100[5E O $100
HOZE $100|HOFE $100
=OIE $100|FROE $10,000
ZFOEE $6,000[#O& $1,200
+O7T $100| EOH $1,000
FOHE $100|ZBO 8L $200
FOH $100[#£O $2,000
+OX% $100|#ROFEa $2,000
77O $100[HOH $1,200
EOEL $100| IE7E A B&2 P $500
FOH®%E $100 |5 8 4R $1,000
Shi Guo Shun $16223[FO& $1,000
ZOH $100,0001 5 OF; $100
HOHE $300] O E 2K $1,015
PROEX $300[ O Kt $500
OZ $300[ EOFHE $1,000
P OB $300[&=OfH $100
EOfE $300|5ROFE $66
PROE $300| EO $100
RO $300[ FEO=E $100
ROE $300[E=0OE $500
PROZ $300[=OF $100
PROE $300( = O HA $100
P OHeE $300[iE O $3,015
[EA@)si $300[EEOH $1,000
ZOE $250)iE O $500
ZFOH $250( & OHF 3% $100
BEOTE $250[B O R $100
ZO%% $250| EOF $5,000
TROZFE $600|FROIE $100
TR AR A E] $2,000|HEOF $100
=O $1,200[OF $150
ROF $200|1220O#H $300
B Oz $200[5FOF $200
EOF $200[5E O $300
EOF $200({ 2O $300
EOE $200[fROFE $500
HOEIE $200|FRO %k $500
PROTE $500| R OZE $100
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EBOH $200[FEO $1,200
FOEL $200[ 2 O $100
ZOR, $200[EHOFT $100
PO $200[BEOA $1,200
£0O%H $200|ZF Ot 5= $100
HOE $200[BRO S $100
PO $200[#E Ot $100
PHOLT $200[E=OL $100
FOH $200(21OA $100
MOE $200[ 5= OKE $100
HO1E $200 R O $300
ZOE $200[FROE% $300
MHO%E $200[ EOHk $150
£0% $200[FRO%E $150
£OWE $200[BROZ $150
WO $200[FROFH $300
HOZK $200[BR O $300
O $200| 2 OF $300
ZOE $200[t5OAY $300
BEOZEE $200[}OF=82 $500
BHOZE $200[HEOIE $100
BHORZ $200[EOL $100
2208 $200|&C O=F $100
BHOH $200|58O % $100
BOE $200) 4 OF¥ $100
BOH $200[ 2 OB $100
BOH $200[ 2 OF $100
BO# $200[HO%% $100
O i $200[FROFE $100
FOE $500[=O#h $100
BROME $500|ER Ot $300
FOF $500|H O $300
BROL $200[5T O $100
BROHK $200[5TOf $100
BROFT $200[t5 O+ $100
MHO% $500[EH O $100
BROBE $200[FAO#h $100
£0OBE $200[ 5O $500
£Z0O= $200[ZF O $1,500
EHOM $200 | O $200
FEOfE $200[ET OB $200
FOME $200[ OBk $200
BROE $200(21Of% $100
=OE $200[BROZ $100
FIORE $200[ O $100
O $200[5= OZREFK $15
g Ok $200[F=HOZER $2,000
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Ok $200{O 5 $100
ZIOFED $10,000|FE ORI $100
LOR $5.000); O $100
BROTE $600[EROE $600
PROETE $100,000|2I1O 75 $500
=HOE $30,000|5O%E $200
HOIK $300[ & Ol $1,000
BRO % $600|FE OA $1,500
RO Hi ] $600[/&E O $1,500
FR O $600|Fx OHD $300
BEO $600[ & OIEl $400
EHOH $600[#O 2 $400
FO= $600[E=OE $400
FHOPTE $600[ 5O $200
BHOE $600[#5 Ol $300
2OJ= $10,000|ZPOF5 $100
FROH $3,000)5O $100
BEOF 1 $200[5RO%P $3.000
O $200[EAOFH $100
HEOMR $200[{TO %% $100
BROEE $200[{TO[H] $100
HOFk $2.500[Z£OF& $500
HOE $2,500|F O $400
ZOF $1,000|E Oz $100
EROZE $200 [ OBARIZ $500
RO $200[## O $100
RO $200|1 21O $100
HOHZE $600|= O $100
i O $1,000|EOF5 $300
T O $600| EOEER $400
£Z0O%k $600[ kO &L $100
TORE $600|Z2OREE $100
EROH $200[HEOz= $100
sTO%& $1,200{FE O $500
w=OR $500[= OAILIE $100
F O $600[ O $100
BRO*% $300| EOJT $100
J1 O $2,500| EOHE. $100
HOF $2,500[ £ OHP $100
BROLT $600| EO= $100
BOFH $600[5OL $100
BIOK $500[/FO1a $100
BEO% $1,000[BAOE $200
BOR $200[#£O $5,000
BO= $200[ O 58 $2,000
BROZK $200[ EOH = $100
= OFRL $200|=OE $100
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HO% $200[FHOE $100
BOZE $200|ZEOfE $400
HO#E $200|+OB4 $115
OB $200[ 2O $200
BOE $200|EHO 4 $100
PROE $200| O $10,000
O $200|1 O $1,500
O $200|1ZZO¥F5 ({0 $600
HOHE $200;EOE $500
i O FF $200[fHOFEE $1,200
O $200|=OF $1,000
B0 $200|£0O4 $2,000
=0% $200| O $300
HEOH $200| & O $2,000
PO $200| = OE $50,000
= ORf $200[FRO % $1,200
EOR $200[BROZE $5,000
O $200[FRO1ERH $10,000
BOFHE $200[F#HO $5,000
B O $200)Z O $5,000
H£OFE $200| 5 Ot $1,500
2= OB $200|FOZ $1,000
= OF] $200[5E O $300
BOE $200|210O%F $1,000
ZFOtE $1,000]|FEO $3,000
#HRO%L $200)ZE OJFUH $600
SOt $1,000{Z O $600
ZOH $1,250| O $600
BROEK $1,250| 2O $600
20 $1,250| O34 $600
20% $1,250[EFOR% $1,000
HEO% $5,000/ 2O $500
#HOT5 $515[&kOF(] $1,000
PO % $6,000HOFE $500
=OR $1,000| = O# $300
O $1,200[ RO $1,000
O $1,200{#£OF) $10,000
S O $600|ZFEOH A $10,000
EORE $2,000|FRO R $300
54@) i $600|FEO 2 $10,020
FOM $600| O+ $50,000
O $1,900{#FO$E $100
F OB $30,000[E#FO5H $200
Oz $5,000| ROl $1,200
BROZE $7,500[#50%F $1,200
HOMH $500[(AROF $1,200
FHOH $500[#EF O $i $200
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£0% $300[EBCO U $200
O $300[ HOH $200
w=OF $500[HOZ= $200
EO& $500[EB O $100
PO $7.500|1ZOt& $100
EEO#K $1,200,000[#F O = $100
FO* $300[E O $100
FO% $300[EF O $100
O $300|2£ O $100
TOH $300 1 O $100
ZOR, $300R O77 $500
=O%E $1.000) e H $400
s OMED $100[O% $10,000
SO $200[fEOK $2,000
BROF $200[FH O $2,000
FEOAD $300)1Z= O $1,000
MHOBEHD $300[F& OF5 $2,000
= O $300[FR Oz $200
HOE $300[7ROZ= $12,000
HO $300[f O $1,000
O $300[ EOAHD $500
BOE $2,000[FF O $100
HOEL $1.000FEOE $300
20 $300[E= O $2,000
wOHk $300]= O35 $500
RO $1,000) ¥ O $500
B0 $100[5Ox $100
FOI $1,200) B OFL $1,000
BIOH $100[#ROF1] $40,000
O] $100|#7O%E $40,000
BIO®T $100[/HOIE $1,000
BIOTLRE $100[5FOH $500
BIO $100[=OF $2,000
O $100[FEO1H $600
Oz $100[= O, $100
O $100|E= O $3,000
B0 $100[6O T $1,200
ROBL $100| EOE $200
=ROHT $100| EO4 $200
= O $300|%2= O+ $500
BOF $100|FEOF5 D $1,200
=OR $1,800]## O A&k $1,000
T ORE $1,200) 5 O $500
20 $600[BEOECFE) $1,200
ZOfE $600| O $1,200
s O $600|f OFZ $5,000
£0% $600[F=OZ¥ $1,200
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ZO1E $600|E=ORF $1,200
O $900[= Of& $1,200
O $900[ZF O $300
sTOH $600[/FEOHE $1,000
sTOW $600 1 OZA $4.,000
sTOR] $600|EOEE $1,000
HOE $600[ O $2,000
sTOR $600[EEOE $1,200
g OH $600[RO=E $100
ROB $1.000{ZIOZk $200
BROE $700[HO T $100
SO $1,200|2E O=F $1,000
FO# $1,200|BEEOF $200
PROXE $600[FEEOTE $1,200
FAOHF $600[EFOFZE $1,000
RO $600[ RO $2,500
W ORKE $100[FEEORK $100
BO# $100[FEO] 1] $5,000
FOF $100[EEOH $400
AROBR $500| EO= $200
EEOM $100[HEOEE $5.000
EOHE $1,200|FEOIH $1,200
ROz $100[Z£O%#E $1,200
BRO% $1.200{EO&K $200
BRO#% $100| EOF $200
BROE: $100[=O#h $200
#OZH $20,000| 5 OH $200
TOH $1,200) &= Ok $200
BIOF, $1,200[4O7= $3,000
BROF $100[EEOE $1,200
O $100[EEOE $1,200
PROEE $100[EEOE $1,200
BROBE $100[EEOE $1,200
TOH $100[EEOE $1,200
BRORE $100[FEO7 $1,200
RO $100[EEOE $1,200
s O $100[EEOE $1,200
BROZ $100[EEOE $1,200
sTOFE $100[EEOE $1,200
sTO = $100[EEOE $1,200
sTOE $100[EEOE $1,200
BROm $1.200/ O $1,200
HOE $1.200[EEO%E $1,200
HOE $1.200/ O $1,200
HOZ% $1.200[EEO%E $1,200
BHOHE $1.200) O E $1,200
MHOZ $10,000[FO & $1,200
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202 $10,000EEO &l $1,200
MHOE $1,200) Ot $1,200
LOHE $100TOE $1,200
TOEHE $100[ FEOFktE $1,200
sTO= $6,000[=OE $1,200
RO $1.200[F=OH $1,200
sTORE $100[E= O $1,200
BROZR $100[HOH $1,200
LO& $100[HEOL $1,200
LO $100[E2O= $1,200
TOE $100[ 5= O $2,000
LO%E $100|FEO $1,200
LOW $100[FNOE B $1,200
tHROE $100[7RO&E $1,200
LOE $100[#£O $1,200
FAGE $1,000| 5= O] $1,200
O $200)%O1E $1,200
20O $6.000);#F OEY $1,200
AO%E $600[;EOH $1,200
ZOfE $600[2EOF5 $1,200
BROBE $600[ZFO% $1,200
FO75 $600[ZFOfE $1,200
= O $600|F O $1,200
EXO%5 $600[ZEOK $1,200
= O54 $600[EROZK $1,200
EO $600[FRO $1,200
BOWE $500[BROZ> $1,200
RO $1.000[FR O£ $1,200
£ZOE $600[ZFO % $1,200
O $600[FOfE $1,200
PROZE $600[ZFO%4 $1,200
BROZ= $600[FO&H $1,200
BROE $600[ZFOfZ $1,200
FOHE $600[=OFE $6,000
RORL $300[#O% $1,200
RO $600|#7O% $1,200
RO $600)| EOFK $1,200
RORE $600| 22O $1,200
RO $600|2OF $1,200
ROH $600| 2O $1,200
HOTE $3,000) 5= ORK $1,200
T O $600[HO4F $1,200
O $300|F Ok $1,200
BEO R $300[F=O%F $1,200
Z Ol $400[ O $1,200
BOZ $1.000[FRO= $1,200
PO $2,000H:OfF $1,200




MEEANSETRAIDFEHEENESE
OSTEHREE (TEEMR : BEFRE ARETL)

B Bzl B2l TR
EO=E $400[5iE Ofi $1,200
220 $500[EO$% $1,200
FOZ% $500(E& O $1,200
0% $500 OB $250
HEOM $500[450 5 $1,200
HOE $500[ = O $600
FZOR $500[zEO= $10,000
HOFE $500[#5 0% $100
FZO#% $500{#5O8% $100
HOZEE $500{Z=OFk $100
HO $500[E Oz $100
BOE $300[&#EOJE $10,000
P O, $1,200[2EOFE $1,200
P OF $1,200[#2 O $600
Bk OJra $1,200[ Ok $100
HOER $1,200{ EOFE $100
ER@[¢1) $500[FFOE $100
=(@LEES $800[FEO L $1,200
BOH $800[#x O $500
=0OE $1,000{EF O $500
F[@)sa $500( P O& $250
2IOB= $500[#5O % $100
BOE $300( P O $2,000
50%E $500[EHO 4 $200
PR O $100[EHO 4 $400
IR R R T $10,000|ZE O $5,000
PO $1,200[EE O $200
P O 2 $1,200[ 52 O $2,400
O $3,000| =2 O%fE $2,400
FOHE $200{#R O $1,200
BO% $1,000/ 2O $2,400
SO $1,000] = O $2,400
RO $300[Z Oz $2,400
OB, $1,200/Z10 $2,400
EOMR $100[#50O= $2,400
HO%E $100[5EOJE $2,400
EIO%E $100|FO% $2,400
O $100[EF O $2,400
EOF $100[EP O $2,400
2EOFE $100[&kOFE $2,400
=0%F $3,500[FROEE $2,400
R OFE $100[HFOH- $2,400
=OJR $100[Z0OE $2,400
=OWE $100[Z20O%E $1,200
2O $100[fOE $1,200
=0 $100[H OFE $1,200
=OM $100[EF O $1,200
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RO $100|E= Ol $1,200
FROZ= $100[=OE $2,000
s O $100|ZEO1E $800
=016 $100[ = OFE $3,000
=018 $100[=O= $3,000
=OR $100|Z2OSiFT $1,200
FROH $500[FROEL $1,000
HOL $100[F Ok $2,000
ZOm $100|= Ok % $10,000
RO $200| &1 B SR A IR A H] $2,000
FOH $200[ (55 $4.,000
TR e S $30,000| fF A8 ST $1,000
/It $9.,668,078 /NET $19,871,188
=t $29,539,266




